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B.Com. DEGREE EXAMINATION MAY 2015.
Second Semester
ENGLISH
BASIC
(Revised)
(New Syllabus)

Time : Three hours Maximum : 80 marks

Text : Imprints

1. Answer the following questions in a word, a phrase or a sentence each :
(10 x1=10)
(a) What is the first thing that the school teaches the child?
(b) How did Gangu earn his living after he got married?
(c) What has Capitalism spread?
(d) Who is the writer of the story, ‘Kartavya’?
(¢) What is the name of the mother of a traitor?
()  What advice does the poet give to parents in the poem, ‘On Television™?
(g Who is the writer of the poem, ‘O What is That Sound’?
(h) What are the things left by the father of the Poet?
(i)  How is Lucy’s beauty described?
() What has been personified in the poem, ‘Because I Could not Stop for
Death™
2. Explain with reference to context choosing one from Prose and one from Poetry :
(2x5=10)
(a) ‘Let Children work together to help each other, learn from each other and
each other’s mistakes.’
(b)  You seem to be a good swimmer; it was your duty to try and save the
woman who was with you.’
(c) ‘How used they keep themselves contented
Before this Monster was invented?’
(d)  ‘Perhaps a change in their orders, dear,

Why are you Kneeling?’
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(&) What suggestions does Holt make for improving the system of education?
Or
(b) Bring out the reasons for the decline of intelligence and innovations with
the advent of machinery.
| Or
(c)  The story, ‘The Mother of a Traitor’ ends in tragedy. Discuss. (1 x 10 = 10)
(a)  ‘On Television’, depicts the damage caused by television. Elucidate.
Or
(b)  Summarise the poem, ‘Obituary’.
Or
(c) Bring out the contrast between mortality and eternitv as depicted in the
poem, Because I Could not Stop for Death’. (1 x10=10)
Write short notes choosing one from Prose and one from Poetrv : (2 x5=10)
(@ Gangu
(b)  Usha’s life before the accident
(c)  Strange fits of passion experienced by the speaker
(d) Theme of ‘O What is That Sound’
Correct the following sentences : (10 x1=10)
(a) He is an University Professor.
(b)  One should love his country.
(c) King Lear divided his property between his daughters.
(d)  Either I or my brother are invited.
(¢}  Peace and prosperity are our ideal.
()  He prefers short story than novel.
(8) He lost a five hundred rupees note.
(h) We shall meet tomorrow to discuss abou- -+= Ebtale b
(i) My house is full of furnitures.
()  Yamuna flows through Delhi.

[}
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Combine the following pairs of sentences using ‘wh’ words : (5x1=5)
(i)  Hari reads book everyday. It is a good hobby.

(ii) The audience stoop up. The guest arrived.

(il I want to help the poor man. He is in need of money.

(iv) Iwent to a town. There was an art exhibition.

(v) The teacher punished the boy. His name was Anil.

Give antonyms of the following words : (5x1=23)

(i)  Attach

(i) Expose

(iii) Lean

(iv) Strange

(v) Tender

Write an imaginary dialogue that takes place between Raju and the Clerk at 5
the railway station reservation counter - (1 x5=25)

Raju : Excuse me, Can I get a berth to Chennai? t

Clerk

Raju
Clerk

Raju
Clerk

Draft an application for the post of an accountant in a reputed company..
(1 x5=5)
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B.Com. DEGREE EXAMINATION MAY 2015.
Second Semester

M.E.L. - ADDITIONAL ENGLISH
(Revised)
(New Syllabus)

“i=e : Three hours Maximum : 80 marks

Text : 1) Hues of Life
2) An Anthology of Short Stories

-. Answer the following questions in a word, a phrase or a sentence each :

(10 x1=10)
(a) Why did the King decide to consult the Hermit?
(b)  What did the King promise the wounded man?
(c)  Where does the action of the story ‘The Beggar’ take place?
(d) Name the Lawyer’s Cook.
() In search of whom did Ulrich patrol the dark forest?
()  Who was actually running down the hills in ‘The Interlopers’™?
(g) Where did Uma write ~ Black Water, Red Flower?
(h)  Who is Pyarimohan?
(i ~ What did every Refugee carry?
) Why does the old man want to save the money?
2. Explain with reference to context any two of the following : (2x5=10)
(@) Tdo not know you, and have nothing to forgive you for,’
(b)  ‘Thank Heaven! That’s fine! I am delighted for your sake.’
{c)  ‘Let’s shout for help,” he said, 9n this lull our voices may carry a little away.’
(d)  ‘And for heaven’s sake don’t scribble on any of Pyarimohan’s writings.’
3. (a) Comment on the moral of the story ‘Three Questions’.
Or
(b) Describe the importance of Nature in the story ‘The Interlopers’. (1 x 10=10)
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(a) What role do the women characters play in the story ‘The Exercise Book™

Or
(b) Comment on the attitude of the locals towards the refugees. (1x10=10)
Write short notes on any two of the following : (2 x5 =10)

(@) The bearded man

(b) Skvortseff

(c) Gobindalal and Pyarimohan
(d) The Old Man

Use the following words as two different parts of speech in sentences of your

own (Noun and Verb) : (5x2=10)
(a) stay
{b) game

() cement
(d) market
(e) building

Your sister has received the entrepreneur of the year award. Write a letter of
congratulations highlighting her achievements. (1 x 10 =10)

Write a paragraph on any one of the following : (1 x 10 = 10)

(a) Not thoughts but actions pave way for prosperity

Or

(b) Importance of Reading
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B.Com. DEGREE EXAMINATION MAY 2015.
Second Semester
C.L. - HINDI BASIC
(Revised)
(New Syllabus)

.= Tnree hours Maximum : 80 marks
Text Books : 1) BRI &7y
2) G st 3iiv Wiy

=55 § A gHaR IR fIRgu| el &7 met & Sox faikav (10 x 1 = 10)
&l HIS BT S g fradht T 27

(i) IR Rig fRemes (i) g

(iti) wETQdT Tt
b) WIS _ BT PR &

@ == (i) Fgfs

(i) fasm=
(c) 3T BT I H9 gaT ?

i) 1909 (ii) 1910

(i) 1911
(d) 3l g @ rEy o) &2

(i) SHA (i) 9Es

(ili) TR
(e) foradt glal w Righ avarg gg?

() 9@ (i) ol

(iii) fopeaft
() I A == 27

(i) R aeht (i) Hfelt oo

(ili) WerHt TEE Ay

1




(8

0)

(m)

(n)

gl g3 ufean Q olEr of T R

() s (i) dlaR

(iii) ST

AT @t qdf A |

() e s (i) YR

(ili) AR

gfean gfean & gl | arferar som ot
(@ a9 @)

(i) |

TR ST [T BT FH 3. | gl
i 1926 (i) 1927

(i) 1928

Hretrerer o famT Srmarst 5 fR@e T
@ I i) et

(i) gaTg ST

R le v SR

(i) Qg Mmur (i) FIRER™
(i) M U=

BIMARIR P BT HUGH DI ¢ ?

@) o g (i) <o R
(i) <orER &g
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= diHl ) TR e HiNYI (3 x 5 =15)
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fopcdt e fawa R fAey forlau) (1 x 20 = 20)
(@ TR 3R IR v

(b)  EBINAT

frforRad merer &1 FfdrdieRor axe, IRT ofiva RN (1 x15=15)

It Txpfer @ik angel R iRy  wfafiRa &1 o/ Qo & wnfeedl 1 guwT wfeee
Tgd & TR eiik sneRofig AFT St 21 W Sk eeg iy wifkt H, yRdig wfe =
3N Ivad SR Wy AR fRwrd o # 99w o Red 78 @1 s9@ Ru a8l &
el sk qgl @1 arareRer & &1 S eeel ghen Wi gl B dued & @ gl elfes
FAR 3 & 917 g & &1 gl B yHfa T T8l $ Aeal & oY geds gu-agls 7
I 3R I & Jufta e AR B e & wY H UM o) A €1 s gl & o
WHRrpar &1 aren ameaTfhar i AR S RIS SeM e ST BRu g Ul AR T
e, eyl sk erfwerdl  dem Wty arqe, srfyemTel ok Briwendl § amE e
TeTer T SR R <an d1 BIR $ A oneaf & dror arer oft IRt wwepfa g =
TSt & forg ameufi &+ 2l
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B.Com. DEGREE EXAMINATION MAY 20135.
Second Semester
C.L. - HINDI BASIC
(Revised)
(Old Syllabus ~ Last Chance)

Cmoes mours Maximum : 80 marks

Text Books : 1) 377::279% BIeY HpAT

2) T =T I AfereiaeT
= 2T 737 B gaR IRy (10 =1 =10)

=i § fogaT auig &2

FEan () fey
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=== Il T B ?

TTeTgsureTHf A (i) HRrefreror 78
=i g
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i IR
Twgw el T BT T Rl g ?
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i) INROTEY

i 12 fFasR (i) 13 RasR
(i) 14 RadsR
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R1e I8 fhaet dreg 719 &7
(i) wecd auf (i) gaferd B
(iii) STHYTPR TR
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(3 x5 =15)

(2 x 10 = 20)
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fopeft wep fawg W ey foTRau) (20)
(@) SOTR 3fR IR 9

(b)  WEPINCT

(c) oft 3R 57

d) &

frferRaa Terer o7 Wfieiewo ore Ifa 2fide T (15)
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o s 21 Wt avg BT 9o EheRY qed deelrdl gl
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B.Com. DEGREE EXAMINATION MAY 2015.
Second Semester
M.I.L. - KANNADA
(New Syllabus)
(Revised)

T-r=2e hours Maximum : 80 marks
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3T 20, 3388 2S00 : (2 x 10 = 20)
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2003¢ 0T BA UV : (10

(@)
(b)
(©)
(d)

WRS00E FeIFOVDTT BRIT TV Fo%3 3 0l B[N 3608 SedsT0?
hoB, RRCDOBTIZTO BT W0 0330307

Serie, nesed eI odws 3wy 0cdw D WRBTOINWIT?

2503008 20,9 B30 BotdE Huedy 03003 TO?

s38e3 Bondecs BS0 3PS FPIR0TOTE, Uozy; mod BTB 333 BRJ38T?
Be3BAT VeI 83T J8 adwR)wo?

FBRE LOOD s B38e0?

5B $000 Sont roooad 2O, JerTeNAST?

PSR 8903 Sons FEVER?

Be3BA0 BowresdN m&3, wEeB B33 308 83 030 BO?
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B.Com. DEGREE EXAMINATION MAY 2015.
Second Semester
Paper II — FINANCIAL ACCOUNTING - II
(Revised)

Attempt all sections according to internal choice.
Use of simple non-programmed calculator is allowed.

Add notes wherever necessary.

SECTION - A

2e 5 136500 Sgi% V303

th)

11}

What do you mean by consignment?
303D 008 0B3eR0?

What are recurring expenses? Give two examples.
DVTR8E3 a"zsuaoddem‘? VB NToBTH VeRD.

What is interest suspense account? When:it is opened?
VB BBV 903 HoBTERO? VT, 0dRDoN 3035003 SrIZT?

Why the hire purchase price is higher than the cash price?
wRBM DOeD 230dn FRIT w2 WSN03 B NFZH DF?

What is down payment?
LBOWE, & FTTOIN FLBIT B3 (FF® Bed00ts) oBBen0?

What is instalment purchase system?
F030 DOCH a’d@@ DOTBERO?

How do you close branch expenses account?
B339 BENY a30dRY, Bert Bzt RIRIDE?

Why goods are sent to branch at invoice price?
t=pEp) ﬁdﬁ)ﬁe}d& 3¢S Fe3ado 3308, OF BIReRRIZAE?

What do you mean by “cash-in-transit”?
7010LATLT [N DoTTeRO?

Maximum : 80 marks

(10 x 2 = 20)

S
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(j) State two advantages of departmental accounts.
Degefeady &, &3 NYRARBIDTC ade)Bie HTHEO BBOTHOINLT), 3920,

(k} What is insurance claim?
DI BTY, W3 2or3TesI?

(l What is salvage value of stock?
et szO3adnRN euPE Be, B30 H0TTER?

SECTION - B
Answer any THREE of the following : (3x5=1z2
ezl BoeTs, Gu300
2. Mention any five differences between proforma invoice and account sales.

S90030 ¢3¢ 83, worie Bposks TN BRIAT 0dTeHTde 0w dééazsk’ﬁ%?d%\%@?%b.

\ 3. Ascertain :
L2 (@) Abnormal loss and
b (b) Value of closing stock from the following :

1€

(i)  Oil supplied on consignment‘— i0,000 kg @ Rs. 15 per kg

(i) Packing and delivery charges /paid by the consignor Rs. 15,000
(iii) Oil lost in fransit : 1500 kgs

(iv) Oil sold by consignee : 7000 kgs

(v) Loss due to leakage : 500 kg
8 BYNT SI0303003 :

(@) OTOe3 B
(b)  ©03z ZTBY WomYE BIPYT/DY, FoBO LBAVD
() o83 SHe0E Soed TodAd wif o — 10,000 & Mo dwe. 15 53 8. 19,0
(i) CoeRWeTE Tkl DY ION® So3) mereedr e dwe. 15,000
(il) =edriaLOwaN YL@ o 1 1500 &. My0
(iv)  ®eobsmd 330@ g : 7000 3. M0

(v)  Becddonon JxmeE o 500 3. Mo
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NMalik and Harsha Ltd. acquired an asset on 1.1.2012 of the cash price of
Rs. 3.72,000 on hire purchase system, payable Rs. 1,00,000 on signing the
Sonract and the balance in three equal instalments of Rs. 1,00,000 each at the
“zr.2 of each year. Interest is charged at 5% p.a.

Zz culate the amount of interest and installment with chart.

27208 1.1.2012 Jomd @95 S03) &@F Q03T 0T Wl DB IT3ad PHoedd 3wy,
epjabia Sy 3(33953 SR WGodw dwe. 3,72,000 Ay, wBoBE, 36 3w 3gm Ce. 1,00,000
T L euvn mgwmﬂ 3 TOAET IDI0T dﬁgdd% 338 o3> C. 1,00,000 d@éﬁd\z{ @3
a7 38 Zoweod IRBeV wTUEYT. ¥BT WAINR B3 SHEP, Bevmd 5 Jod wBOIIY
22 22000 wed eudn SR3T Foedd Homdnes).

T13.7Y9 wETHINCOSE WBOORY, ToBO LROVD. (Ws*s BaROT)

=-: = the following information prepare branch debtors a/c :

Rs.
Debtors 1.1.2014 1,50,000
Debtors 31.12.2014 90,000
Allowance to customers 6,000
Cash received from debtors 7,20,000
Goods returned by customers 10,000
Discount allowed to customers 5,000
Bad debts | 4,000
= 2957 SR5303008 ZaJ FPOMPTT 93030F), 3037000 : N
..

Doo0oT 1.1.2014 to3 520nedd0 1,50,000

BP0 31.12.2014 Co3 moonedod 90,000

mEFOR ABB BOBT, 6,000
DemTdE 233 INd 7,20,000
— F30) To09 5943 F0BIED 10,000
Iied D dauns 5.000

TEA =S 4.000

il - -
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State how the following expenses are to be allocated among different
departments :

(?) Discount allowed

b) Rent

c) Salary

d) Insurance of goods

e) Lighting charges

(f)  Bad debts

g) Depreciation on machine
h)  General expenses

(i)  Advertisement

() Labour welfare expenses - -
I soef2T za"zgd ﬁ@éd& DG dganndnt Bert ®0230207
(@) el V3

(b) 23818

(c) I3

(d) =Fzons

(e) SuabEcy a‘zeﬁrw DO

() TR Fpeneh '

(8) adbodecszomny 383

(h) mmqj DN

(i) 228C008T 230F

() woFT TR €9 DT

A fire occurred in the premisés | of 'C‘otton Stores Ltd. 31.12.2013 and a
considerable stock was destroyed. The value of the salvaged stock was agreed at
Rs. 4,500.

The following data is available from the books :

Rs.
Stock on 1.1.2013 34,500
Sales for the year 2013 1,92,000

Purchases for the year 2013 1,26,000

During the past five yeafs the average gross profit on cost was 25%.

Prepare a statement showing the amount of claim in respect of loss of stock by
fire.




wE

8120-B21-IISC-R-M-15

merm 3450 Pobood 630D Oweod 31.12.2013 Com> NEEINL0RS. o’
2= tobtnTa NN Al éwﬁ m’a% ow. 4,500.

21T DoR)enRdod BEsTH Boees Bt YN wod-wodrieh oyl HNT :

o%.
ée)% 1.1.2013 34,500
9820138 IRFBS,  1,92,000
¢ DD 2013 e IxeBdS,. 1,26,000

£0BF 9RO VT 0eRD @y SR ead Be. 25 TRY,
=) QBI0 3&% mtjzs:é’ =30 30350020.

SECTION - C
Question No. 13 is compulsory (Case Study). Answer any TWO of the
remaining : (3 x 15 =45)
13d¢ 33 swaodd (880 95 0d). W 7a] aojé;ﬁe}c‘)mzé’eﬁad SOBT, 3020

Swarup Mills, Belgum consigned 10,000 kgs of oil to Ganesh Traders of
Dharwad, each kg of oil costs Rs. 8. Swarup Mills paid Rs. 1,000 as carriage,
Rs. 500 as freight and Rs. 4,000 as insurance in transit. During transit 1000 kgs
were accidentally destroyed for which the insurance company paid directly to the
consignor Rs. 5,000 in full settlement of the claim.

After four months, from the date of consignment, Ganesh Traders reported that
7000 kgs oil was sold at Rs. 9.50 per kg and expenses being on godown rent
Rs. 1,000 and on salesman salary, Rs. 1,500. Ganesh Traders are entitled to a
5% commission on sales. They also reported a loss 40 kgs, due to leakage.
Prepare the necessary accounts in the books of Swarup Mills.

%cmae &Jeﬁ”m}moas QI0) PIUDBE RT3 éeoo:‘adaod 10,000 kgs %o&ﬂzﬁoﬂl dmmc&é
38 kg 300 33)3) O. 81 [TV, BB 70 523, dwe. 1,000. monoeds w3 Se. 500 3089
308> 90 Ge. 400 BT, 3T mORabImN esmezeN 1000 kg $o SRFNRY, DB
F030TT0 FedmeN BHsmesdr S, 5,000 el FFHoT BTg0d> BRBET.

3030 BE&T 4 dond Bo38 7000 kgs Jo=), I3 dSe 3o dwe. 9,50 Jod S000k3
IRREN resed Bewo® w30t STH TY2WT.

o Bowoy eume welt Cw. 1,000 3,00weds ®Med dw. 1,500 Setdmeh 8T,
RBOBE IP0E BeI33 Soce3 9S00 Be. 5 Tod By Irodew mdzsz»’@oaﬁmod’. 95330
B0oBOITH 40 kg o) Zeed Bocht 2080 JICH SPRWIT.

300D 0k BT, OBZT adiv 3030020,

5
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X Company Ltd. purchased a Truck on Hire Purchase System on 1.1.2011 fron
Lavanya Motors Ltd. and agreed to pay 20% per year interest, on the unpair
balance of the cash price. X Company Ltd. decided to depreciate the truck b
20% on reducing balance method. X Company Ltd. paid Rs. 40,000, on signin
the contract and the balance in the following four yearly instalments at the en

of each year.

Rs.
t Ist instalment on 31.12.2011 72,000
2nd instalment on 31.12.2012 64,000
3rd instalment on 31.12.2013 56,000

4th instalment on 31.12.2014 48,000

Prepare necessary accounts in the books of X Company Ltd.
D3o0% 1.1.2011 Jord wawey Boctsste DOLAT B0 20w €35,3), woldt VB Tt
BT ‘T Foxd Q0L BSTO DOEDITTL. Wod BRR We3od [0ces 20% Foded [AleTeNtr

BRTBED WwABRY WO0B). ‘T FomD AOAZT £35° Boces 20% ToAFT BIF0F 80, RYOIOC

el

583 F,590 356@&‘5&3\2{ 5080 3eBREQIBRD. ‘@ FoBADS[TY Se. 40,000 ne®y, so9

Q

=3,

33, B F03T FoBYrFBY, FoB, 1s BB, B FUNT0E We, TAFT FoRNIS) B8 Tt

33N ZRT u&ﬁwo@m@d

SJ.
SRBOF0 F030 Bweos 31.12.2011 72,000
QTBI0R 030 Bweos 31.12.2012 64,000
Baedod 3030 Beos 31.12.2013 56,000
mq@”o&o F030 Bweos 31.12.2014 48,000

WRBR DODDITE B)FFBS), W53 Fm00 DR 79311, 30D
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T-ym the following figures prepare accounts to disclose total and individual

=-ofits of the two departments ‘A’ and ‘B’ of Aradya Departmental Stores.

Rs. Rs.
o Opening Stock A 15,200 By Sales A 1,00,000
B 10,800 B 80,000
~o Purchases A 75,100 By Purchase Returns A 1,100
B 69,800 B 800
T Carriage inwards 2,860 By Discount received 1,430
T Salaries A 9,00?
B 8,506‘
T35 General salaries 11,600
7> Rent and rates 6,000
o Advertising 8,100
T3 General expenses 5,400
T~ Discount allowed 1,800
T2 Accountancy charges 500

J-mer information available :

Ny

recorded.

-, General salaries to be divided equally between the departments.
Outstanding rent Rs. 3,
<. Department A and B have occupied space in the ratio of 3 : 2.

= Closing stock of department A Rs. 17,800 and department B Rs. 15,600.

000.

Goods transferred from Dept. A to B were Rs. 10,000. This has not been

Accountancy charges can not be allocated to any department.
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FIn 6@@% B0ébd FH20LVOT Jgent ‘o’ B den ‘Y [ a"gjo.béﬁ SCIANPSES
oawsa& FoRY &HBOIVT  Tewoh 666 a’@rﬁe}&z{ 3000020, ¥STBR dJeningy es
BDae38 e B00b3e5¢ 3@55‘6—‘!:5 esonnwanGs.

o¥r) Cx.
8800333 303D ée»1+ A 15,200 S»oets A 1,00,000
B 10,800 B 30,000
D0 A 75,100 B TT3 A 1,100
B 69,800 B 800
0B DOEH 33, 2,860 RReB IFTT 1,430
powY A ‘ 9,000
B 8,500
:aabadzs RToTAL) 11,600
BN 303y 39 6,000
239&CTID 8,100
EEDARI Swrieb 5,400
RpeB Vep, 1,800
SBHI DB 33, 500

oz%:)dow Y30 I30&H3 ;

(@ A 2ndom B :szaﬁ@d SMREFIHBOIG ZTBINY Se3 Se. 10.000. 'acimq z
JIeke) .

(b) B0, ROWYBTY, DTB MFNANYR ZBPTZN Boesziesy.

(€) 2393 90O 238 B3 . 3,000.

(d) ePRASDNB, 3:2 OTVITBBY, Fe3,3S) e55,20233.

(e) 083 383 éex%: A den Bw. 17,800 08y B 2en 8. 15,600.

() g%, I3, Aero3 37‘2?‘7“& adnaie qepalr BowWOT03e) .
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) k) .. Desai Co. Ltd. of Poona has a branch at Dharwad. The goods are invoiced to the
-0 w ¥
3000, branch at 20% profit on sales. The branch has been instructed to send all cash
)
received to the head office daily and all its expenses are paid by the head office.
The following is the summary of transactions at the above branch for the year
2014 :
Rs.
® Branch petty cash on 1.1.2014 200
Branch debtors on 1.1.2014 8,000
Branch stock on 1.1 .2014{at invoice price) 20,000
Goods sent to branch (at cost price) o 80,000
Petty cash Rs. 1,400
Rent Rs. 6,000
Stationery Rs. 3,000
Salary Rs. 24,000 34,400
Cash sales o 58,600
Credit sales ' | 70,000
Goods returned by branch (at invoice price) ‘ 2,000
Cash received from customers =~ - 60,000
RN
Discount allowed to customers : 3,000
Goods returned by customers 5,000
Branch petty cash on 31.12.2014 400
Branch stock on 31.12.2014 (at invoice price) 25,000

You are required to prepare branch account, branch debtors account in the
books of head office.
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Bemood Fozd O FPHe ANTY PeUmernd zeal BLODTY, ;‘Jdﬁm@aﬁi god@edod Boee
3e. 20 003 993 50 Zoaldrt 6@3&%@3@6. 52330300 30T ©BJ00E3D0T WOT D) [N BT
T3 OF JIpod Dt FRIRET wBeIIR) zeafobd Irens 20, IWITY Hwer
Fiedonor e WD IBEoD N AFEOTUAG.

20143e Sarswad a;gwaadrieé 0208 FTFNT08TS :

SR.

D0z 1.1.2014 Fotdh 22230098 15T [ 200
He08 1.1.2014 Sord 9 desiedtntdor woesed $03 8,000
doeos 1.1.2014 dowd 8,008, espeddmanizea3obdtos 388 3o, 20,000
Z031% TY0&AT FTIT Soew WSS 80,000

BT I zn. 1.400

(ARtclg] ; Js. 6.000

S;géﬁé Ss. 3.000

30w 5. 24.000 34,400
JRB Sovees 58,600
PO BRTES _ 70,000
522303008 #H3) Wol FTE (Fodb Beadrod) 2,000
MY,BTO0T SR 22083 SN 60,000
Me,®zOM zi’)édof@‘e&ﬁweﬁa 3,000
Me,®BTO0TW FTTY BUS WoBHEY, 5,000
31.12.2014 Com )38 8ricy 8, 400
31.12.2014 dordy zd80 §e)% (3 oDt e353203) 25,000

T,00% 3L5e00d B)RvEO ZaaJod a3 Forie Zoafody Besdiwess ‘méwm‘%{ 30352020.

10
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On 28.6.2014 fire occurred in the premises of Deepa Stores of Haveri. The
‘ollowing figures are available from the records of the stores :

Stock on 31.12.2013

Stock on 1.1.2013

Purchases during the year 2013
Sales during the year 2013

Sales returns during 2013

Purchase returns during 2013

Sales from 1.1.2014 to 28.6.2014
Purchase from 1.1.2014 to 28.6.2014

Sales returns from 1.1.2014 to 28.6.2014

Goods drawn for personal use (2014)
Values of salvaged stock

The stores has taken fire policy

Rs.
35,000
15,000
80,000

1,26.000

6,000

5,000
70,000
65,000

5,000
1,500
18,600
39,800

e RRETP Fo3edodh STy Doeos 28.6.2014 Towd @Q{maﬁéﬁmo&ad R eof

T2D303 HSPTE Soee B8 FYNT 03 o3NYo @z%maﬁcﬁ.

§%31.12.2013

Qe)% 1.1.2013

DOeD 2013 ¢ IBEWY,

23, 20138¢ SRETY,

3, B33 201 3¢ SRETY,

DOCR 383 20138¢ IRFBY,

2% Bweos 1.1.2014 Do 28.6.2014
DD Doz 1.1.2014 dows 28.6.2014
a3, W03 dveos 1.1.2014 Dor 28.6.2014
3,03083 evmodecrts, SOFNYRE) SEEEY, (2014)
Nt s@O8005N dd 80, B39

3@656’06 ea‘rl DR BT dfag

11

os.
35,000
15,000
80,000
1,26,000
6,000
5,000
70,000
65,000
5,000
1,500
18,600
39,800
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13. Cast Study (Compulsory) :
B30 o500 (F@od 23)

(@)

Mr. Vikas of Davanageri consigned goods to Mr. Vivek of Bangalore at a
proforma invoice price of Rs. 40,000 which is @ 25% above cost price.

Why the consignor consigned goods at invoice price?

Find out the loading and pass adjustment entry.
0. Box woSearied BIT Wondeds JBes. S0t D WeSod Joees B, 40,0007
ATTONTRY, T T. B Bowee 23Sad Boeed Be. 25 OR), ’TIZT.

A03 Godmedrd 9% ATBONIRY, D, WS Boed FIRTYS?

Bek), SR, Fom> LB, 350 Redmeeiady dees (Journal Entry) DSV
30300,

Mr. Anil agreed to purchase a vehicle under hire purchase system anc
agree to pay 3 yearly equal instalments plus interest 7 107-.

He paid first instalment at the end of first vear bur he failed to pay the
remaining two yearly instalments.

How do you treat the instalment already paid by the hire purchaser?

What is the right of vendor when hire purchaser fails 10 pav the remainin;
two yearly instalments?

. VOO BN DD Trod Boedd TUBHHIRY, VIeDIT: Trin 3 TAFT IO
Fo30 o3 3e. 10 B8Eo3 B F0WI0TL B SWIoLE 10T IRBEROBTS.

Segovod JHFd 30l SpBoB0d Fo3RY, FomeaATHE-FoIT udE 2 e
FO3D TOWIOWTEN aﬁomﬁmg\?.

o ﬁd@éojoq DOCHTTTY 30T0VLT T30 mgsmq FZer =8redsoDD?
DOERTTR 300WE WOIT VYT DTBS FoBINYMON SRTILITITE 655'% a7

12
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B.Com. DEGREE EXAMINATION MAY 2015.

Second Semester

Paper 2.4 — BUSINESS COMMUNICATION SKILLS

(Revised)

Taree hours

Answer the questions observing internal choices offered.

Question No. 13 is compulsory.

SECTION - A
‘er any TEN of the following :

ATSW
D ééﬁed:g)ﬁe}e?naim@mdd\/a 633 @%ﬁ@ﬁ wgb;@:

Ity

]

What is business communication?
zédsad RODTE-2003e3 DoRBeRO?

What is visual communication?
c&s’g&xaezﬁd F0RTE F0Be3 DoBBeRO?

Define credit.
23T (evd) :méa% 3000,

What is cash credit?
6‘%5\‘ %,8635° dondesy?

What is business report?
%, 5%007 J0H 2083807

What do you mean by Minutes?
e3¢ (Minutes) dordeso?

Mention two occasions for writing enquiry letter.
QBT B, WV TR RoTIE NI, 2S00,

What is complementary close?
B03TT TR HoBBeT0?

What do you mean by video conferencing?
dBdee FITIAONT HorBeRH?

Mention any two essentials of a sales letter.
2F,0D DI W TR eadszsﬁa’ﬁvdi (Alefo Vle}

State the contents of an order.
T ialy-] a’@dQ BETINTOS aﬁobmw.; 392D,

State two characteristics of public speech.
RIFBAT PORNT HTRD vgeamiag 3920,

Maximum : 80 marks

(10 x 2 = 20)
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11.

12.
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SECTION - B
Answer any THREE of the following : (3 x5=15)
033RF)WTWTH BeTY, GUZDAD :

Explain the essentials of a good business letter.
D DYTHIOT BB 83T ©908NITY, JSOD.

What are the points to be noted while writing a letter of enquiry?
Q3T X8, WB0IWTN NOARWCTIE o3nYd 03507

Write a letter to the bank requesting it to sanction an overdraft facility.
LS0° @, APoy 8RB ACEVMON OB w9030 BT Swwe03T 03D

What are the essentials of a good report?
VI FTBOD WRZTIriesy, w3

What are the objectives of various types of interviews?
AAG 2,390 R0BBETI vz e3ndm) 920,

Briefly explain the objectives of circular letter.
TOTZ W (Rodneds) emc?;éﬁ%’ﬁ%ﬁo}}gmﬂ 302D,

SECTION - C

Answer any THREE of the following including question No. 13 which is
compulsory : (3 x 15 =45)
%3, 5033 13 @0LI0IIE. GVIBHNYH 03503)erE0e BB B3It eugdAd

What is meant by a ‘report’? Explain the different types of report.
JTD 20BBERO? NG B F00 SoDRYDY HS5020.

Write a letter of enquiry to the suppliers requesting to quote prices for various
articles and terms for bulk purchases.

QeR) 338(’5?3@2%55’05 AN Ione aﬁq%mdng)ﬁ )N w@ﬁvd& BB BRB, 008w,
DBRMN ATLT BTINYRY, 89R0Z03 30¢D, 2,000 M5 BZFB, WSAWD.

What is oral communication? Explain its advantages and disadvantages.
I30PE somTE FoBed ordesy? HET emﬁfaoémfabd Tonse @mﬁaﬁmo&’ﬁ@&z{ (Alefotblo)

Draft a copy of resume in detail.
DFTTW B0 BT SRTO0IT), 037D,

As a trader, you would like to insure your goods in your godown against fire.
Write a letter to the insurance company regarding this.
Qe 2w, @003, Qo) rtecmedotd |to= 20BONYR, 2303 IR0 wIBBZeD [BADCD. B

QF0D BOOBD D0 FOBAN 2,080 B3, WBOWD.
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Cast Study Analysis :
T T0m R RS

taj

b)

Ci

As a student leader you want to establish ‘consumer club’ and
‘communication club’ in your college for the benefit of the students. Submit
a report to the Principal explaining the need for establishing ‘consumer
club’ and ‘communication club’.

QeR) W), &)maz@s‘ Bodeoan &%mmam%mms &aaz@s‘m} WeI3edrineN ‘Consumer
Club’ 8 ‘Communication cmwmagl TToPRen mgdz,aaea. pilale] eﬁéﬁﬁéod.) wrf
Eesnjenrla] sdaomg QB 392500306 Ot FYZEL 050D

In sports, a clash between two teams of students, takes place in a college.
What measures do you suggest to settle it?

SFITY00LTA, Ferdrieh SBodwmen HTRD Iodriel BEoS PPwme,00 evotaNd. B
TBR 30BN TBOAT PPD, 0TV, FOBRZOV Q303 TR, 3PR0D0 DO

You are appointed as a sales manager in a company. Draft a Joining Report
to be submitted at the time of reporting for duty.

eIy wodd 50:%@@ enlertX] dgdm@aiﬁoah a?cmifoahaocb. seln ﬂeaﬁ@e}%mﬁ Best
2e0ox SOR0LTY, 30dRDOXD.
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B.Com. DEGREE EXAMINATION MAY 2015.
Second Semester

ENTREPRENEURSHIP DEVELOPMENT AND
SMALL ENTERPRISES MANAGEMENT
(Revised)

(New)

T—=e - Three hours Maximum : 80 marks

Weightage will be given to neatness and clarity.

Mention right number of question angwered.
Q. No. 13 is Compulsory.

SECTION - A
Answer any TEN of the following questions : (10 x 2 = 20)
& SINIPHYd cinI)mute B3 a;z{p«?ﬂ L300 :

.al  Who is intrapreneur?
F04T PR B HoBTY aIRTO?

b} What is meant by innovative entrepreneur?
T Iod GVE RO FBL DoBSERO?

ic) State any two disadvantages of entrepreneurship.
VT 8cedod adn)waETR HTRE emmmosmagm,o.

id)  State the objectives of EDP,
quaio 8eo3d eaz:)q)ag Bo0dr 5308 quesnv@l (Alele blo}

te) What is meant by Tiny Units under SSI?
SSI R0 e Frisndondes?

{f) State the functions of an entrepreneur.
quab B0 zmo,bfrwagl 223020.

(g State the functions of KVIC.
KVIC - a@o F0DF YR, 8920,




L

Y

G
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(h) State the features of women entrepreneur.

S0&vo YLD TOBLOL OFNIDY 2380300.
(i)  Mention the problems of S.S.L

SSI (39%6;,@6@) FeIone wo%ma&mwm
() Define sick industries.

BRenng 3meddndsy HpHA0.
(k) What is project report?

0300 odeexsadd TR Q0TBeSO?

()  State the features of large scale industries.

2%336 %mbﬁﬁ@.} ﬁoea—e)gsam}ai% 39%0.

SECTION -B
Answer any THREE of the following questions : (3x5=19)

0309 WeBTLR SWeTd BZ NV U300

Explain the characteristics of an entrepreneur.

VT FoBH03) OBeFLNYR), HZ00.

Distinguish between entrepreneur and intrapreneur.

PUTE30 OB F03) F0AT VT TOBL AN TBIDT VoBTIT) wB0%0.

Explain David McClelland theory of entrepreneurship.
BT SR SUY08 B3TDIB U0 Bewd AR 0IITY DS00.

Discuss the objectives of EDP.
emdzsdo 8ced eav:)wdi?pob efudoeéﬁe}d;i 2323 20.

Define project and explain in brief objectives of project.

803 alpersalum, TDA0 383 §ain odeciod eureBrivR), SogEmen HB0R0.

Explain in brief consequences of industrial sickness.

dwening 3,neddne DOBISONTSY, ﬁacgadde?”abc DI0A0.
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SECTION - C
Answer any THREE questions including Q. No. 13 : (3 x 15 =45)
=3 703}, 13 Bo¥teorod adnaz)mertse Suedd 23N eu3020 :

£xplain the classification of entrepreneur on the basis of nature of business.

TR0 Be0 F§0dR), FBH0T ZVATT $5esd Soees INerson IpBRTT i} 23236 20.

Define women entrepreneur and discuss the opportunities to women
entrepreneur and the problems facing by them.

=% m)dzsab mmwa& ;’%3%2’ Fone 3O arbIoy ewﬁasm}m‘i BN WITY HBOOROT

::n:%rﬁqfdi 2323620, Y

Menton and brief the distinction between business, profession and employment.

.30, S8 Fone §9T0 AY)e SRS B@dﬁeﬁﬁ%ﬁoﬁémﬁ Q3020.

=—xplain the need for growth of SSI Units.
<3 2 0% peEnd Weseitod ewéasﬁéababcl DTV,

—=Zine Joint Stock Company. Write its features, advantages and disadvantages in

et

ZLTC WOBTVY B0ZOR, FD L. BT OBHNIRY, BROTLAOINGRY BoNe HPIRITAOINIRO
® LR 30} LX) o] ;3 LY

SgE SN wdod.

M- Arvind established retail shop for the sale of ice-cream and milk and also
=< products. But he is incurring loss continuously. What measures you

s2zgest him to overcome the problem?

ICICT BODALD), T FoNN FoOT wéﬁlﬁ@d\g{ madoaﬁdii 3QOTY eoﬁ&oi)ag m@&mm
woT uSRO 333N SHTD, VBOPIRTOTR. Deay) 931t a5 Sm%oi)mi Vdzen 0l
SCE YR 3RRO3CD?
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B.Com. DEGREE EXAMINATION MAY 2015.
Second Semester
ECONOMICS
Paper II — MANAGERIAL ECONOMICS
(Revised)

T=ree hours Maximum : 80 marks

ih

UiF}

All sub questions should be answered continuously.

Draw diagrams wherever necessary.
All sections should be answered in the same answer book

3
SECTION - A

swer any TEN of the following in 2-3 sentences each : (10 x 2 = 20)
222008, 2-3 Doy ided, FYNTHNYS, eson a8y JInrt evzdd:

2~
oY,

What is short period?
BeRIH DoBBesO?

Give the meaning of equilibrium price.
1303000 WSod s AeRD.

Write the meaning of monopoly.
aémas%d s w3oWD.

What is price discrimination?
W& 39033y 20u3BeR0?

What are the two conditions of equilibrium?
TZZRCOTT HTBO KON 030F)R)7?

Define “price leadership”.
2565 F00TeYS! T DAD.
s %%
State the meaning of product differentiation.

V3 Fer IR BT ¥EE ATH2D.

Mention the meaning of “Dual pricing”.
300 YSadb ege 3920,

“What is support price?
oo ¥ 208307
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() Give any two assumptions of profit maximisation policy.
223 1ERS Dedoth AIPHTIETH STB> VeI, Hedd.

(k) Who profounded innovation theory of profit?
SEIAMREMEDLY) zmoosm% 38500203500 0dRT?

() What is depression?

SRET Sooried, SHOBTERO?
SECTION - B
Answer any THREE of the following : (3x5=195)
0330 TeBTLR SeTd, suZDAD :

DlStlnnglSh between ‘market price’ and ‘normal price’.
mmw (AT ) ?a&mai ey a)nY SBOTeo Ty YD,

Explain the features of oligopoly.
e, udmﬁ% S300TE3 03 ZENYR), DIDAO.

Discuss the kinds of administrative prices.
BBEIIIIT BSne PRy, 23236 20.

Explain gross profit and net profit.
Wk, oy} 03 K)d;) ey 3OO JIOAD.

Discuss the phases of trade cycles.
abazsw“ed 35 nd Bo3nesy, 2323 20.

Calculate accounting profit and economic profit from the following data :

Particulars Rs. in crores
(a) Sales revenue : 12,000
(b) Production cost 3,000
(c) Depreciation charges 1,000
(d) Advertisement expenses 1,000
(¢) Interest on own capital 1,000
() Rent on own building 1,500
(g Wages for personal labour 2,500
(h) Taxes paid to the Govt. 500

2
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W 203- 20371% 3B903000G dﬁdd 0oy F0B) BHFT 023 Fo@O HBOLD -

DITYL Buoct3 d.rigd)
&SR0 4od 12,000
S SUROT g, 3,000
< e dy, 1,000
T-TI -~ gort §) ;Szgd ne 1,000
e 333 wBZYE Foeds wR 1,000
T 2535430 weldr 1,500 ?
£ 2207 3308 g0d 2,500
. ZTB0T ©e3323 30rine 500
SECTION - C

Acswer anv THREE of the following questions in which question number 13 is
Campulsory : (83 x 15 = 45)
WES wd 5o Saedd a‘b{m}aﬁi U300, wH)ned) 33, 503% 13 g@a0iends

W=a- s perfect competition? Discuss the characteristics of perfect competition.

- o3 £ 2Retd 20T38eR? BOFPE BRpee3od ogmri%f&l WD,

Ze<=e monopolistic competition. Explain the price-output determination under
Dorepolistic competition.

|Ecad S ek a%a% S0 mﬁd%oi)os :»:,mcésodoq BS oD e""";“i mra:b.nswomd
b~ o "o}

<cve the meaning of pricing policy. Discuss the various methods of pricing.
o2 Dedcsy oG JeBD. 2368 VFEORToD DG amwm@t 32320,

S%aze the meaning of profit. Explain the risk and uncertainty theories of profit.
T 9CF TR0, 3B Nomo033 Honse 9&%33013 .%m'%o:s‘ﬁ#dgl DS020.

®e the meaning of business cycles. Discuss the characteristics of business

SRINC T MY ugs wB0D. 5990 W el OFENIR 1323620,
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13. Caselet:

Following is the demand and supply schedule of an industry. Price of the product
is determined with the help of demand and supply in the market.

Price Qty. demanded Qty. supplied

(Rs.) (units) (units)
10 600 200
20 500 300
) 30 400 400
40 300 500
50 200 600 *

Questions :
(a) Name the type of market structure.
(b) What is the equilibrium price and quantity?

(c) Draw the demand and supply curves and show how the equilibrium price is

!5»::1 ! determined.
iy 23 GRS :
'»" 2,000 eLdHood Wedd So3 RpVE S08R, B 24AT03W. BT IR T WeSadw 3eB3 Sod0
wt ) > d e ) ]
Qfaqjifﬁe?od &)zp’a'e'bémrb:id.
233 23R B[00 ‘-Jgjaddﬁ e bl
(5. (Fesrive) (rEMvd)
10 600 200
20 500 300
30 400 400
40 300 500
50 200 600

BB

a) Seoozes geisodd B,5o0=T, BROAD.

b)  3Rodece WS 03y BRPee 0IRFHTO?

(c) Be@F I3y RPTF Sealdnddy, DaLd Bone sdece B Bt AFFORVREZ
DOWITBY, 3,0c020.

— —
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B.Com. DEGREE EXAMINATION MAY 2015.
Second Semester
FUNDAMENTALS OF COMPUTERS
(Revised)
me Toree hours Maximum : 80 marks
Answer all the Sections subject to internal choice.

Question No. 12 is compulsory.

SECTION A — (10 x 2 = 20 marks)

XY

Z izs==r anv TEN questions. Each carries 2 marks :
2 WZ=ar are the types of computer based on size?
= AZar are the different types of keys in Keyboard?

2 Name any four input devices.

= How to delete a file?
= Define GUI.
S = WwWmartis rnenu?
) & &=a:do you mean by web browser?
= wozaris FTP?
= List any wwo advantages of e-mail.
- "Write two steps to reply to the message.
L WZzat are the search engine?
z Name any four Indian educational sites.
SECTION B — (3 x 5 = 15 marks)
Answer any THREE questions. Each carries 5 marks.
- Zx=lam the functions of operating system.
z Zx—’a:n the twpes of printers.
303 | & w4 Z-at1s a folder? Explain the steps to create and delete folder.

=3 Zxzlain the Internet Explorer.
} & =xolan the steps to move a message to a folder.

& —2¢ a short note on Khoj.com.




10.

11.

12.

13.
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SECTION C — (3 x 15 = 45 marks)
Answer any THREE questions including Question No. 12, which is compulsory.

Each carries 15 marks.
Explain memory unit with its types of memory.
Explain different generations of computer with their merits and demerits.
What is Desktop? Explain different icons present in Desktop.
Explain the Internet Explorer Standard toolbar options.

Case Study :

Say, You are working as a computer operator in Naveen Sports Academy. Th
academy introducing new training batches for cricket players on May-2015. Yo
are asked to perform the following activities using any of the email servic
websites. Explain each activities steps with neat diagram.

(@) Creaté an email ID “naveensports15@gmail.com” for your company.

(b) Write an Invitation mail-and attached with soft copy of Invitation wor
document.

(c) Send the same copy of email to multiple mail address and keep copy i
your mail box.

Write a short note on :
(a) Output devices
(b) India Infoline

(c) News Paper Websites
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B.Com. DEGREE EXAMINATION MAY 2016.
Second Semester
M.I.L. - KANNADA
BASIC

) 1) BRINTE 3QTINL -FoTPBETL TatsdeDT mad&
8303 o° a;‘ Bowried

2) wBoY - BeIBAT Jdores

3) Y3 Gﬁdd - azsu:,';

4) ;366&86 6@163' - azsus;
(Revised — New Syllabus)

Time : Three hours Maximum : 80 marks

PR, I3 WIBT é\)ﬁ@ﬁ NS0T FABRNIF)T.

1. (&) ‘ubmane SEabe) Bos)E m3 Sert BISTOAE? ITO0.

095359
(b) ‘Somoxbd sgad FTZ ST, DS0RD. (1)
2. Yewor HUBY, 3T ed 2300 (2 x 10 = 20)
(a) No® reedonvows
(b) BITrew

(c) dmone

L

3. (8 ‘wEoY 3ar0wdold WEIT S0P BoTENY Berk 13 ITNE? IS0D.
Llatwr)

(b) =oAL FOWW 330 ‘WBRY Fariowdodd) Fert 133TNS? (15)

4. Wesor .Dddi% ¢33 69 w300 : (2 x10=20)
(a) eoBrod zf’zd.fas
(b) 3@ (Few) - BRIV CTT FRoNney
() %030 BHAIT JFe3BNRH
(d) ©BIIE oRod 38R
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w0ge T B HuZdAD (1

()
(b)

‘BeQem0R QWO 0INT TS PaTO?

To03) DOERIT 233, adPR)BO?

Be308 0030036 FHRAOLHT BYRY 0dPTH)TOT

‘Bony 38 W3R SeDITY 63N3O?

‘BrRde ITWE wéﬂﬁoecﬁ’ 6c;§ojoabct o0l BEe 3030V esoj%éﬁeivoaﬁci?
‘WY FaBowdD B3 0dRTd? ‘
mdobdmmwﬁdeﬂm 03RS T3, SPBEFO?

BTIF B33 0300307

Rwoes weoBd sES F20000LB), BN 30TIT0 035307

BTN oRY, =T S08ITTO?
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B.Com. DEGREE EXAMINATION MAY 2016.
Second Semester
ENGLISH BASIC
(New — Revised)

Time : Three hours Maximum : 80 marks

1I.

1II.

Text : Imprints -

Answer the following questions in a word or a phrase or a sentence each :

[a—

© © N o gk WD

10.

(10 x 1 = 10)
What is the first thing that is taught in the school, according to Holt?
Whom did Gangu marry?
What were the three trades the pin makers had to know?
Where did Usha and her husband go?
What is the nair;e of the mother of a traitor?
What did children do before the television was invented?
How does the first speaker react to the sound and sight of the soldiers?
Where does the obituary get listed?

Who is represented as a bridegroom, in the poem ‘Because 1 Could Not Stop
for Death’™

Who has written ‘The Strange Fits of Passion Have I Known'?

Explain with reference to the context any TWO of the following, choosing one

from Prose and one from Poetry : (2 x 5= 10)
1. ‘But to win someone over one has first to forget about oneself.”
2. ‘Come, let’s go home. The Almighty has been merciful and saved our lives’.
3. You watch the slowly growing joy
That fills their hearts.’
4. ‘Were the vows you swore deceiving, deceiving?’
(a) Bring out the recommendations made by Holt in improving the educational
system.
Or
(b) Describe Gangu’s attitude towards Gomti Devi and her child.
Or
(c) ‘Capitalism spreads ignorance’. How does Shaw’s essay elaborate on this
truth? (1 x 10 = 10)
1




Iv.

VL.

VIL.
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(a) Summarise the poem, ‘O What Is That Sound’.
Or

(b) How does the poem ‘Obituary’ bring out the transience of a human life and
its aspirations?

Or

(c) How does the poet bring out the contrast between mortality and eternity, in
the poem, ‘Because I Could Not Stop for Death™? (1 x10=10)

Write short notes on any TWO choosing one from Prose and one ’from Poetry :
(2 x5=10)

1. Character Sketch of Usha
The attachment of the mother of a traitor to the city

Damage caused by television

e

‘Strange Fits of Passion Have I Known’ - as a nature poem

Correct the following sentences : (10 x 1 =10)
1. Sky is blue.

Let us discuss about the matter.

The news of the accident are shocking.

Silk is superior than cotton.

One should be proud of his country.

She is neither good or honest.

Raju is one of the best student in the class.

She is a good student, is she?

L N o s W

The ministers quarelled between themselves.

—
e

They does not know the truth.

Combine the following pairs of sentences using ‘wh’ words : (5x1=23)

5

(1) I went to the mall. I purchased a dress there.

(ii) The audience stood up. The Chief Guest arrived.

(iii) The soldier went to the battle field. He was killed there.

(iv) Mr. Rao is my neighbour. His daughter studied in my college.

(v) Tknow the reason. Suresh has come today.
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w1

(b) Give antonyms of the following : (5x1=39)
(i)  Accept
: (iij Brave
(iii) Hard

(iv) Inferior
* (v) Entry
VIII. (a) Write an imaginary dialogue between a student and a book seller. (5)
Student . Excuse me, I want a book.

Book-seller

Student

Book— seller

Student

Book-seller

(b) Write an application for the post of a Senior Manager in a reputed Multi
national Company advertised in ‘The Hindu’. (5)
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B.Com. DEGREE EXAMINATION MAY 2016.
Second Semester
C.L. - HINDI
BASIC
(Revised — New Syllabus)

Text : 1) BIIIERGITRY e
2) FIforo =g} e
3) Firdavor

1. gl g8 el & IR gy

()

(e)

TRHIETT 1 W U8 P fradht &7

i e (i) mERd
(i) e ‘

TR 5 Plerger & ot goar ST &2

(@) fae () s
(iii) foemR

e St &1 frr < @ sTdls qRwRR fivem &2
() St (i) o
(i) EPR

YA ATer e v &7

() I (i) I™
(ifi)  STFEeT

RIS B’ forereht wfaan &7

i wEg (i) foTeR
(iii) gHIR TR

REIEAEaER R Il e

) T gm et (i) FS @
(ili) ATEH BT

Maximum : 80 marks

(10)
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(g) BRTERR BT BT WAGH DI 8 ?

@) oeha &g @) R R
(i) woER R
(h) TR @l S+ 8 g3 7
i 1926 (i) 1911
(iii) 1908
() S R 37 oFRa R
() W AR () o
(i)

G) SpTet 3iR SEp A1 fepedht e 82
q) ofdR AR () AT
(i) gt

(k) T I 5T anT e Ay 872
() e I weAr (i) efre

(iii) TR
1  ofter o W o BEd &
() |G aisy (i) domme fa
(i) BRely
(m) & R ¥ oTER T e fre 9w w E?
@) o areH i) orfR T
(i) 0§
(n) BT aeg ot e AT 8?
(i orEd (i) TIET
(i) T
(0) f%r—q‘?wf%wffangﬁmmasm#ﬁmﬁuﬁmﬁm%?
i) IHErG gad () R BRATS

i) feaal
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2. Tl v & U e i (15)
(@ d& A dof @1 07 v, Rl | & ®@ R
M & PlcTEe & 19 AT STl & FAR|

(b) TM IR TR P IR P Al & 918
g3 IaT 3 A FWR B Al & 915
(c) @ g g b A®
Al & emar g ar
forgt o R gY g &1
(d) TS P9 TF GoE IHAE H
et Fmant @ el <o e
aﬁs‘WMWﬁim|
(e) ¥Ed BT P BA D T Ppol R U
T a¥ @I Tl Ay & 3 e Sfie

()  wEgE g9l i e 8 dear
a3 ¢ % qoraN WE, [T & gR|

3. =gl q medl & forw SwR forRRaui (20)
(a) feuTer o1 dewr @ g7 e 9rsgl H faleu
(b) &l P @, Tal B T £ TE HIRT |
(c) T ulgan sfdan 7 B &1 e T HIRT |
(d) TG P 3T AW HfAar &1 IR fARau)

4. {53 @ fow w gy &Rgu) 4 (20)
(a) §®
(b)  Sheet e T
(c) T
(d) H9Rd H P
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.

freforRad merer @1 afrdteRor oxd, Sfd ofife S| (15)

R B &1 JUE [ET THER 9 21 3 AsE SHarel, SR 93 @1 aremare
IR st SudrpTeT @ STET o BT € g8T SUW a 3iftrd e S Sfhdl Bl B g Sl
AR U7 B U £ TIER U3 7 IR e T o d) ST Hed 980 P9 96 o Rt
qeaTel 1 T o Bt w7 | o @ o e & et B R o st weea
g 2 wife ™ wmaﬁqgn—ﬁ%ﬁaﬁaﬁaaaﬁﬁaﬁﬁm%aﬁmm
e e % @ Serew & forg oft el weR us A 2 g € 5 aga-of carsdl &
TR T o € Ry a8 319 &1 o1 2 6 e gard o - 9 oy et 21
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B.Com. DEGREE EXAMINATION MAY 2016.
Second Semester
M.E.L. - ADDITIONAL ENGLISH
(New Syllabus)
{Revised) o

Time : Three hours Maximum : 80 marks

Text : Hues of Life : An Anthology of Short Stories

I Answer the following in a word, phrase or a sentence each : (10 x 1 = 10)
(a) What was the hermit doing when king approached him?
(b) Why did the bearded man want to take revenge on the king?
(c) In Chekhov’s story ‘The Beggai*’, where did the beggar have an offer of a
position?
(d) What is the name of Skvortsoff’s cook?
(¢) Since when did the Gradwitz and Znaeym families continue the old
enemity?
()  Who ran down the hills towards George and Ulrich at the end of the story?
(g7 When did Uma become a nuisance to her family?
(h)  Who is Gobindalal?
() What made small shopkeepers bawl out rudely at the refugees who were
begging?
() Who gave the old man a silver coin and copper penny?
II. Explain with reference to the context any TWO of the following : (2 x5 =10)
(a) 1 do not know you, and have nothing to forgive you for’
(b) ‘Take this gentleman into the wood-shed and let him chop wood’
' (c) ‘Lets shout for help, in this lull our voices may carry a little way’
i (d) ‘Can you eat only one small bowl, then?’
IIl. (a) Describe the Skvortsoff’s efforts to reform the beggar.
Or
(b) Fow was the feud between the Gradwitz and Znaevm family resolved?

{1 & 10 =10
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IV. (a) What was the attitude of the men towards women’s reading and writing as
depicted in Tagore’s story ‘ The Exercise Book™?
Or
(b) Bring out the attitude of the locals towards the refugees as narrated by
Pearl S. Buck in The Refugees’. » (1 x 10 = 10)
V.  Write short notes on any TWO of the following : {2-x 5 =10)

(a) Hermit
(b) Meeting between Skvortsoff and the beggar y
(c) The City-dweller’s reaction to the arrival of refugees

(d) Pyarimohan

VI. Use the following words as two different parts of speech in sentences of your own :
(5 x2=10)

(@) Record

(b) Chair
(c) Pain
(d) Subject

(e} Progress

VII. Write a letter of congratulations to your cousin who has cleared the IPS main
examination and compliment him on his achievement. (1 x10 = 10)

VIII. Write an essay on Clean India Mission. (1 x10=10)
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B.Com. DEGREE EXAMINATION MAY 2016.
Second Semester
BUSINESS COMMUNICATION SKILLS
(Revised)

Answer the questions observing internal choices offered.

Question No. 13 is Compulsory.

SECTION A - (10 x 2 = 20 marks)

Answer any TEN of the following :
8 FYNT)NYD), 0PI @erste &3 BRI GL3VAD :

i. (a)

bj

What is Communication?
T03FEI0BTTeRO?

What do you mean by horizontal communication?
ASOIO F0DTEI0BTERO?

State two occasions of writing letter of complaint?
BRTY QRIS TS, WI0IVT HTBO 30(5@3?{1@}{&2{ 22T 00.

What is grapevine communication?
Dag WY 03 R0 [ForTeR?

Expand the following : CIF and FOR.
CIF &03) FOR D502 w3oDd.

What is Audio-Visual communication?
BB e-T AT RoBTEBoETeRO?

State the 4Cs in a sound credit policy.

emwoa de30LI® TV, Csrie}w% 23000,

What is bank reference?
m%o%ai Ve DS 0BT eRO?

What is report?
ITD HoEFesO?

What is good news letter? Give examples.
W e 208 T ridondesd? VDB T TN

What are the circular letters?
3RS SINRForeso?

What 1s resume?
dm%df HOBTeRO?

Maximum : 80 marks
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SECTION B - (3 x 5 = 15 marks)

Answer any THREE of the following :
BINTI)NYSD 0350F)TB TR Soedd, BuZdD :

Write the physical aspects of business letter.
F3H0T TZT 73T wodnday w3030.

Write the principles of effective communication.
SBOHTF0 BoITE B0rfe3T IINYTY 280900,

Write the functions of business letter.
:’;S;Smd T3 SedTE Eaabs‘ﬁeéabd 230WD. !

Write an enquiry letter requesting to send a quotation copy for T.V. sets.
3.0, BenY WS e Tt (FHEEBTT) FYLIBATT0Z AT08R Dw0HD DI, WO
W30DO.

Write a letter to your credit customer demanding the payment which is lon;
overdue.

52003 DT WBALR), Y HIS3RF0I Fe? BLB), MYBTAN B, WSO,

Write a letter to HESCOM for irregular power supply.
B0 BY3 BPTYF 0B B0 33, wB00.

SECTION C - (3 x 15 = 45 marks)

Answer any THREE of the following including Question No. 13 which :
Compulsory :

37 H033, 13 S@a0HI0ZY. SvIBHHYE, cdRTIECA 0@ BBRIH Bug0R0 :

Explain various parts of business letter.
JBHIT IIW AP TR HSOD.

Distinguish between oral communication and written communication.
903 FoTe Iy BPDT ZoTTENY JIYANYE, WIWD.

Explain the occasions of writing complaint letter. Draft one model compla:
letter.

0T a’:‘;ﬁem% w3odlos 3055?,3(»716:}69=l 30D TN 0T C WOLD IPBD BRT: 2
20T00.
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12.
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Write a circular letter announcing the opening of a new branch in same «iiy.

3 50ad 3(3011)36{6%5’49%32: BVCROI] BT, WSO,

Write a company's first board meeting notice letter with agenda of t*- meeting.
FoTAOD JB Ader 8T SooEYodr 3ol Besme d@aﬁa&i s od edomadaedn wdosob.

Case Study :
TFV 9, 0D
[

(a)

Suggest an improved communication system for a better traffic and crowd
control on the occasions :

(i}  Shri Ganapathi immersion (Public)

()  Any other fair exhibition that you know of
BE wHRod ol Bore BLRNYS alna 2otedz RoIss [RFEBOTT, guoelmerzen
0, FOBYR), & FINT J0BWrNYS 3920 :

(1) ~e3rwds Je nsd IBwES 0T,

(i) Qo) 3PV oIn)rreEdron BREFS

As you are a student leader, write a appeal letter, to the principal of your
college, to provide purified drinking water facility in the college camyus.

Ve w2y ABENY ToLToN, oden wTTHH B0 DBOIND IO 238
SRBTARIT0I, AR FoIeess Dawobr O AT ST B3, WBAWY.

A new smart phene is to be introduced in the market. The manufacturer of
a new smart phone wants to know the effective method of communication
for the successful entry of the smart phone. Suggest a suitable method of
communication.

BOT e @i@eaﬁ&; Se00F DO TN, BT BYRIE Fres® gumEycs WD
0B SPTHFE, FFedd, 20T J0TTE APANNYRY ddmen QBF), FROWT. it A
AT FOTTEI RNE 303 ded.

ot

?

22
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B.Com. DEGREE EXAMINATION MAY 2016.
Second Semester
FUNDAMENTALS OF COMPUTERS
(Revised)
Time : Three hours Maximum : 80 marks
Answer all the Sections subject to internal choice.

Question No. 12 is compulsory.

SECTION A — (10 x 2 = 20 marks) ‘
Answer any TEN questions.

Each question carries 2 marks.

1. (a) What is Computer?
(b) Who is known as father of computer?
(c) List any four characteristics of computer.
(d) What is task bar?
(e) Write the use of control panel. -
() What are icons?
(g) Define internet.
(h) Expand WWW and URL.
(i)  What is E- mail?
() What is web page?
(k) Define search engine.

() ~ Write any four search engines.

SECTION B — (3 x 5 = 15 marks)
Answer any THREE questions.

Each question carries 5 marks.
2. Explain in brief generations of computer.
3. Describe output devices of computer.

4.  Write the steps to create, to open folder in windows XP.




10.

11.

12.

13.
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Write about internet explorer.
Explain advantages and disadvantages of email.

Describe the benefits of websites related to education.

SECTION C — (3 x 15 = 45 marks)

Answer any THREE questions including Question No. 12, which is compulsory.

Each question carries 15 marks.
What is software? Explain its types.
Explain the parts of computer with neat block diagram.
Explain start menu.
Explain in detail services of internet.

Assume that you are working as a computer operator in ABC Enterprises, v
are asked to perform the following activities using any of the email seni
websites. (If necessary draw the diagram.)

(1) Create an e-mail id for your company.
(i) ~ Write an invitation mail and attach the soft copy of invitation.

(iii) Send the same copy of email to multiple mail address.

Write short note :

{a)  Classification of computer
‘b)  Desktop

ic)  Google
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B.Com. DEGREE EXAMINATION MAY 2016.
Second Semester
ECONOMICS
MANAGERIAL ECONOMICS
(Revised)

Time : Three hours Maximum : 80 marks

All Sub questions should be answered continuously.
Draw diagrams wherever necessary.

All Sections should be answered in the same answer book.

SECTION A - (10 x 2 = 20 marks)

Answer any TEN of the following questions in two-three sentences each :
FINT CIRZ)TWTL BR) ngm?ﬁ DTVBO~TIORTO mﬁéﬁ@@me}ug@%@ :

1. [a)

What is Market?
S0V, HOWTERO?

Who has profounded perfect competition?

SOBpeor BFPeEI0HR), B 3TDABZTO 0370317

Define reserve price.
5200020 2363 359,939, 03.
) R
Write the forces of the market.

S0z FENYT), WSO

What is legal monopoly?
FIRTIZT mﬁmﬁ D0TTERO?
State the meaning of discrimination.

38(332)’%65 eﬁz;jrddoq BeFO.

What is kinked demand curve?

F0080 23e88 Bead dornTeO?
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(h) Find the unit profit :
3T Y3 oGO HROWD :

AC =Rs. 10
P/AR=Rs. 12

()  What is accounting profit?

dﬁp 923 D0B3ERFO?

()  What is the meaning of differential price policy?

‘7’%;3%@35 3e3 Qed dorBern?

(k) Define innovation.

ea&)@d 8T Q0.

() Write any two feature of business cycle.

a%ma BT8O TWTR BB ©T M W30DO.

SECTION B - (3 x 5 = 15 marks)

Answer any THREE of the following :
FINT QDo) TTWTR m&% V30 :

Explain the price determination under very short period.

ea%o:s’ VRIPODLY WS AT ITD2.

Explain the features of monopoly.

aﬁmﬁd%d ogsami@i D3028.

lllustrate the short-run price-output determination under monopolisz
competition,
ms%odoos ‘w;ag'jaewodaom ¥eRIY wd—m%ai K)cpardsmcl DB L.
Discuss the objectives of the price policy.
W3S dedod emcs;aez;rie}abd WU,
Examine features of business cycle.
STV 3T, T N, SOBed.
n
) et sl
T — —— N
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7.  Calculate accounting profit and economic profit from the following data :

{a) Revenue earned by sales 72,000
(b) Indirect taxes 2,500
(c) Replacement cost 4 200
(d] Production cost 34,000
(e) Salary given to wife as a accountant 5,200
* (f) Interest on self capital 5,100 ’
(g) Advertisement cost 1,800
(h) Rent for own-building 4,100
(i}  Rent for own-vehicle 1,600
§)  Reserve fund 2,100

FYNT 908 ©03NY am0LD0T ('56&55 0923 / 8RET ayd FOrO HBOD :

{a) STE3D0T NPT 33203 72,000
(b) BSsecg 01 2,500
(0)  wBLRNRDTOL B3, 4,200
(d) evzdwTe a"zsu 34,000
(e) &7, 3% D37t AeBB SeIT 5,200
{f) ;3’;&)065@%"(3 waé 5,100
(g)  z50%eTa3) e, 1,800
(h) 30503 5&;}3 YArlctal 4,100
(i) 303 SoBIT wokr 1,600
() 2000 A 2,100

SECTION C - (3 x 15 = 45 marks)

Answer any THREE of the following questions in which Question Number
13 is Compulsory :

3UNT GIRT)DTTR Faecd BRI ev3dL. 3B 303, 13 FwRELTINCI :

8. Illustrate the price output determination under monopoly.
DFRZYTE 268 20F) VT APIETIT) B0,

9. Describe the features of oligopoly market.
VO, mﬁmﬁ;ﬁazs S390055 030 OFHRAYTY SLFAD.

10. Explain price output determination under discriminating monopoly.
3@635% aﬁmaw%w 23¢3 e"’%ﬁ K)mrddaﬁi D0

m—__i"———-‘—-
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12.

13.
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Critically examine the innovation theory of profit.

(SrYAln] eﬁ&aa&d %m@osw@i &emé@ﬁmﬁ X03cD,.

Explain the various phases of business cycle,

TRDIC WTW HIG 803!\’@&%&58&&

Case Let :

Following are the cost and revenue of a monopolist.

MC - Rs. 10, MR - Rs. 10, AC - Rs. 15, AR - Rs. 20, Output -- 50 units.

Questions :

(a) State the nature of market.

(b)  Find out unit profit.

(c)  Find the total profit.

(d) Show the equilibrium with the help of diagram.
A8 AT :

mﬁ;-a%xi% 200D B A stadﬁe}o 8 FYNT08:S ¢

MC -~ dn. 10, MR - ©». 10, AC - dw. 15, AR - . 20, 8v3ES - 50 Pesznb.

BB :
(a)  BRTLTES, O3S Be?.

(b) BT eyl 50BO HBOWDY.

(€] b, ©a23 BB HBODY.

(d) TBewewds 3m2abRdR 330RRcOT Zed.
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B.Com. DEGREE EXAMINATION MAY 2016.
Second Semester
Paper II - FINANCIAL ACCOUNTING - II
(Revised)

Time : Three hours Maximum : 80 marks

Attempt ALL Sections according to internal choice.

Use of Simple Programmed Calculator is allowed.

SECTION A - (10 x 2 = 20 marks)

L Answer any TEN of the following :
FUNT WSevot B3 BB eugH2D !

1. (a)

(b)

Who is consignor?

3080 8wa0 2008 adpdo?

Give the journal entries for abnormal loss in consignment and also if partial
loss is recovered from insurance company.

N03) SeRodbd) ememnt BRE ersst A5 $03V0T S0FT IBFDFT Snce
BoN BHTNF, Teg FoDSNYR) 230000,

What is proforma invoice?
3200 WS Fed HorBery?

Who is hire-vendor?

2381 3T IPTENI0 H0ET 0355607

Mention any two features of Hire Purchase System.
23281 DO 3(%301) DTTY OFnnYR) Bedd.

What do you mean by independent branches?
%30@ SN ovdermy?

How do you record goods-in-transit in the books of H.O.?
SR Teiedod PFFRE, 20r100dE ROBONYRY, 03 Bed BoDIRWPRIR)TO?

What is departmental accounting?

VWD STToZ HOBTERH?

— e AT
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(i)  State any two objectives of departmental accounts.
QERLe W30 TR HVEeBNYT) 39AD.

) Mention any two needs of insurance claim.
DB BTV, WGIZ0D HOVBO BSZTINITY, BeD.

(k) Why the memorandum trading account is prepared?
03800 E3eB0r® oD, HIFYN F0dRORPTLI)T?

() What are the types of insurance claim?
D35 BBY, war%éojo AAG ITIVNTRR)?

SECTION B - (3 x 5 = 15 marks])

Answer any THREE of the following :
BYNT WSesar3 Se0Y, U300

Classifying the following expenses into recurring and non-reCurring expeilsss,
(a) Loading charges

(b)  Octroi

(c) Packing charges

(d) Godown rent

() Freight

(ff  Advertisement

(g) Salesman salary
(h) Carriage to godown
(i)  Selling expenses

)  Unloading charges

S8 3%’ﬁ§@ﬁ@(‘\b@o"§)ﬁ0®33?3 BN B)TTISIEITOT FWRITIN SNeesdD !

(@) ®TBY Boowdd Hw,
(

b) =oo%

(c)  =yBor® 33
23

(d) ovr Wkl

(e) moreedse I,

()  230&C0030 DWOF

(g) S002eMeTT IMes

(h) 1hecmadornt 388 RIS [,
(i)  Soovets Suned

() OB WIROT SN0
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Calculate the commission from the following information :
(a) Cost of goods sent on consignment Rs. 5,00,000.
(b) Loading on goods sent at 20% on cost price.

(c) Commission at 20% on sales plus 20% on excess amount realised over and
above the invoice of goods sold.

(d) Goods sold for Rs. 8,00,000.
2 FYNT SRL3oVOT dc;ame?o;bﬁa TR HLBOWD :

(@) =TZ I 5(0;3053 00 §90&%AE 3TTONS 8% WY dw. 5,00,000.
(b) O=es 3I8Bony Boces 5%5%58 B8 : g2 W3Sad Be. 20.

(€) TURY I0vaed Boces Be. 20 onn e S, B0803 BuUE WSK In0F ST Boces
3e. 20.

(d) S5o0ets SBB 338 Tre. 8,00,000.
Mention any five differences between Hire Purchase System and Instalment

Purchase System.
Wkt DVD TBS Foro T3> DOER m;aéﬁe} BBEOAT adF)de 030 F%B%Sﬁ%fai% 3920,

Prepare the Branch Debtors Account from the following particulars :

Rs.
(a) Debtors on 1.1.2015 73,500
(b) Bad debts 17,500
(c) Credit sales 3,88,00
{d) Cash received from debtors 3,29,000
e} Discount allowed 15,000
FINT S0&30D0T Zod TS Da30d@), 30300VY

os.
(@ momoddd. 1.1.2015 73,500
(b) 3B BN 17,500
(c) euvEd Inosks 3,88,00
(d) =oMmTdes IXET srcd 3,29,000
(e) Zmeh Dea), 3R 15,000
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State how the following expenses are allocated among different departments :
(a) Canteen expenses

(b) Discount earned

(c) Sundry expenses

(d) Depreciation on building

(¢) Carriage outwards

f) Power expenses

g) Office staff salaries

h) Carriage inwards

i}  Insurance on stock \
) Salesman salaries

B BIND Se3refs), G TRROR Bert Bowd SRBRMIFTO H0WTRY, 3¥AD :
(@) T obded S0,

(b) Recd IVBW,

(c) =88 Sned

(d) BWE JedT 3TTY

(e) RTB TFHAT 501 B,
(f) 2008 B,

(g) Teied 20D F0WY

(h) Ded roesd dzsu

(1) 3o, R03W Boed IS
() S00e3rMeTT Bowd

As fire occurred on premises of Mr. Adarsha on 31.12.2015 and considerable
stock was destroyed.

The following data are available from the books :

Rs.
(a) Stockon 1.1.2015 1,05,000
(b) Sales for the year 4,20,000
(c) Purchased for the year 3,88,000
(d) Goods drawn for personal use 3,000
(¢) Value of salvaged stock 34,000

During the past five years the average gross profit on sales was 20%.

Prepare a statement of insurance claim.
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8. 31.12.2015 Borb . $BBOIT 3300) v@ﬁ BB0303AS. I0TY Ben I’;Q?a BI0erE).
3Rl ;

88 FYNS m?:oéoi)d% RDRTT $5083 BoceS VBN :

(e)

3050 8, 8. 1.1.2015

SIRET S00eks

IRET DOeD

3083 evdodeend ROBONYR), TBER),

eaflﬁ SBISOIPN VP ée% m’éegs

¢

gwn.
1,05,000
4,20,000
3,88,000
3,000

34,000

%00 0T IRFD F0oRD 2t LI Be. 208K, 95,008 Boees 83T

DB BBY, woridod sdaom% 303530020.

SECTION C - (3 x 15 = 45 marks)

Question No. 13 is Compulsory (Case Study). Answer any TWO of the following
remaining :

138¢ 38 dER0dh (F30n 65 0bT) ewds S3ned wewn S0BY, Q30 :

Prepare the necessary accounts in the books of Sri. Ganganna from the following

particulars :

(@) Consignor

(b} Consignee

(c) Goods consigned at invoice price
(d) Loading on goods sent

(e) Consignor's expenses

(ff  Good lost in transit

(g Claim from insurance co. on above loss
(h) Consignee's expenses

()  Goods sold by consignee

() Commission to consignee

Sri Ganganna

Sri Rajanna

Rs. 3,00,000 (2000 televisions)
20% on cost price

Freight and insurance
Rs. 16,000

200 Televisions

Rs. 25,000

Selling expenses Rs. 10,500
Rs. 3,00,000 (1500 televisions)
10% on sales
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B 3YNT IICRPOT e noriey =T FREBS B3 méﬁ@ﬁ%a’oim@%@ :

(@)

3030 O=5oxt0

30B0 I000ks T80

B350 5 Tedod 2530308 RVBONYBY, TZRABY,
g B0soNY Boedd BIEO B

308 C=o8me0T Sunied

7drtobgman smE T

Boedd 63\0;553*&:553 FODIROVOV JIAT 'zaéasqir

3080 Tvoi SI000¢3 B3APOLBT Se3niehd

0B Ced S000e3 B3PI Soe0ees SBE 0B :

308 Cod Snoees 3001 BeRy

8¢ noriey,

8¢ Oa%ey,

gwe. 3,00,000 (2000 3.2.1%9)
Soee Baad Hoed Be. 20
Wl 03 33 Se. 16,000
200 &.2.n¢o

dw. 25,000

S0ets Fed B 10,500

gwe. 3,00,000 (1500 3.0.11¢0)
So00etsrs Boeds Be. 10

Akash purchased an Indica car from Angadi & Co. on hire purchase system on
1.1.2015. The terms of payment are as follows :

(d)
(e)

Cash price of the car was Rs. 2,52,000.

Amount paid on signing the contract Rs. 67,500.

Balance amount paid in three equal annual instalments of Rs. 67,500 each

on 31st December every year.

Interest charged on outstanding balance was 5% p.a.

Depreciation was charged at 10% p.a. under reducing balancing method.

Write up the necessary ledger accounts in the books of Akash.

8. 1.1.2015 SoRd e5595° ¥=80 @ond & FOSBQ WI00T 20130 Q0BT aaéaig’l B DO
35#@3&1) 2oee3 BRoRITROTT !

2YAT03 B F0W03D IPBID waodri%ﬁd :

9085 5208 snwL WS dw. 2,52,000.

u;ui\odéé 2 Bovowan Fowaod SR&EW 303 dw. 67,500.

2% SRIITT), TA. 67,5000 3o&Fs 503803 Soedd 330 odndd %8 IR BIows®

31 00 30m0d SPBIHT.

w98 3030 Boed Be. 5 Go3 B TRBOITT.

Safg, 3e 10 J03 50T SSoed den), YPO30 56@30&)03 3339 i30T,

&TD® ¥BT R)ATIE DT 8793nYR, WSO,
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Ratna & Co. Ltd. Hubballi has a branch at Kottur. The goods are invoiced to the
branch at 20% profit on cost price. The branch has been instructed to send all
cash received to H.O. daily and all its expenses are paid by the H.O.

From the following particulars, prepare the branch account and branch debtors
account :

Rs.
Stock on 1.1.2015 (invoice price) 30,000
Debtors on 1.1.2015 11,250
Petty cash on 1.1.2015 850
Goods sent to branch (invoice price) 1,50,000
Goods return by branch (invoice price) 3,000
Expenses paid by H.O. for salary rent and petty cash 48,500
Cash received from debtors 82,500
Cash sales 80,000
Credit sales 95,000
Discount allowed to customers 3,000
Bad debts 8,250
Petty cash on 31.12.2015 600
Stock on 31.12.2015 (invoice price) 33,000

Os9, & Bo. Q. BOWE, B30 BRLRTOTY Zoas BROBTIT. ATBONYRY, Soee Wb Boees
3e. 20 dod eyl &5y Deasn ﬁ@o&%m@d 3303 303 INTE3NRE word MO alAY) Smsd%
TIDT Jpow TeIed Fdky FAEOT sBBIB), Z2BoHY 3rens den 33D IPes
FedeDooTSe WESE IRRIT)TN AT OIS,

S YRR ITTNY0T Zeasody 03 mone Beadod Beedmooa a:a:&ri%id% 303530020 :

.
3080 8wy, 1.1.2015 dono (1P 30,000
TOMCCL 1.1.2015 Jod 11,250
BT Fncy 1.1.2015 dord 850
31} BY0LIT 30D (I.P.) 1,50,000
Fv3000T FoFBR), Wor FTB (I.P.) 3,000
ST F6JeDOOT TMRT, el Do) BT SNBFTN 08 InaT daiuri@o 48,500
M,BTO0R SBRRN Wl 3T 82,500
BNRTO 003 80,000
emdoa ImSpYertX] 95,000
My B0 Dedygueed Zeeld 3,000
506 39O 8,250
WU Sncy 31.12.2015 Bowd 600
AT den), 31.12.2015 Jomd (I.P.) 33,000
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11. From the following information you are required to prepare departmental tradi
and profit and loss account for the year ending 31.12.2015 :

Particulars Dept. P Dept. Q  Dept. R

Rs. Rs. Rs.
Stock on 1.1.2015 18,750 16,500 14,000
Purchases 50,000 43,750 37,500
Sales 93,750 87,500 81,250
Wages 12,500 10,000 7,500

Stock on 31.12.2015 22,500 20,000 17,500

Common £Xpenses :

(a) Rent and taxes Rs. 7,500

(b) Discount earned Rs. 5,250

(c) Office salaries Rs. 15,000

(d) Publicity expenses Rs. 8,400

(¢) Freight Rs. 15,750

() Lighting charges Rs. 1,750

(g Bad debts Rs. 12,600

(h) Canteen expenses Rs. 7,500

Inter departmental transfers of goods

P to Q - Rs. 5.000

QtoR-Rs. 3,750

Other information :

(i)  Office staff appointed P - 60 men, Q - 60 men, R — 30 men.
(ii) Area occupied by each department equally.
(iii) Number of light points P - 40, Q - 20, R - 10.

oy 39 ﬁ.@&% R39&309000 LTINS s%o—uad 3038) ma—s—-;\w méodoagi D 31.12.2<

I3 RIS DTTow 3015030

: DIV P P Q PN R

i% . on. 3.

: 308 8o, 1.1.2015 18,750 16,500 14,000
20D 50,000 43,750 37,500
SI0TES 93,750 87,500 81,250
SR 12,500 10,000 7,500

73(3%6@0%31.12.2015 22,500 20,000 17,500
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B3€ m&aaﬁs DAL :

(&) wedn 0 3018 ¥e. 7,500
(b)  Zeed IBBW) Be. 5,250
(c) ®e3ed =T Bw. 15,000

(d) D50 Seined dw. 8,400
(e) =ermeedse msucm. 15,750
() 283 Seinieb dwe. 1,750
(g) 0wo e dw. 12,600

(h) s 03en® Seiried Be. 7,500

©033 Pnngd ol RTBINY Sreess :

P 0% Qnt — dw. 5,000

Q doB R 1§ - dwe. 3,750

230 [0&s :

(@)
(1)

(1)

On 31.8.2015 fire occurred in the premises of M/s. Geeta stores of Gadag. The

sefedodd> 2208 Bezwedd P - 60, Q - 60, R - 30.

DR APIINNYY F0WN o1 38,03,

3)(3%3‘ oo ne 30&% P-40,Q-20,R- 10.
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following data are available from the records of the stores :

(2)
(b

—

C

~—

(
(

(e

R o5 0 o

(
(g
(h)
(i)

Debtors on 1.1.2015

Cash received from debtors

Discount allowed upto 31.8.2015

Bad debts upto 31.8.2015

Debtors on 31.8.2015

Stock on 1.1.2015

Purchased from 1.1.2015 to 31.8.2015
Rate of gross profit on sales

Value of salvaged stock

Prepare a statement of fire claim.

Rs.

1,12,000
3,37,500
11,000
4,500
1,35,000
90,000
2,92,000
25%

50,000
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Aezo BRET® non ssons) 8. 31.8.2015 dord a@m&o@ﬁnoazﬁ. x’uaedeoi)ma)méw eSL00
3ocel s FYNT wo3neh ozggsmﬂﬁ :

O%.
(a) Weedwmaddd B. 1.1.2015 sowd 1,12,000
(b) Weedrmotdor word BT 3,37,500
(c) Zecd Bpotdmy 31.8.20150 Enlo]al 11,000
(d) 908> me® 31.8.20150 JIYrk 4,500
(e) Weeswasdd B. 31.8.2015 Sord 1,35,000
() =oso 8en; 1.1.2015 gowd 90,000
(g ded . 1.1.2015 doxm 31.8.2015 2,92,000
(h) 28,008 Boees wid) P W3S Be. 25 =
(i) e@m&amﬁ VI Bew, 8P 50,000 -

) D3 B3, g3 30D 3035020.

Case Study (Compulsory) :

Apeksha of Dharwad sent goods to Madhu of Mundargi valued Rs. 2,25,000.
Apeksha incurred Rs. 23,000 for freight and Rs. 7,000 for insurance in sending
them. Madhu paid Rs. 5,000 for octroi and Rs. 10,000 for selling expenses.

Apeksha received on account sales from Madhu which showed that entire goods
were sold for Rs. 4,00,000 (out of which credit sales were Rs. 50,000). Madhu
collected only Rs. 44,000 from the debtors and informed that Rs. 6,000 are
totally irrecoverable (i.e. bad debt). She was entitled to an ordinary commission
at 10% on sales.

Prepare consignment account assuming that :

Case 1 : Delcredere commission was not given to Madhu.

Case 2 : 4% Delcredere commission on total sales was given.

8300 esqso:b('d (i&'aaawa) :

POUSBE VBT 202030 IoBBNAD oG HoWIION Twe. 2,25,000 50’0%(3 ROBONYR.
dm&)?omod. odegy VI dw. 23,000 wedn 3o de. 7,000 D359 smmq FofAtat=S
e TnTaria A mammd. 050 ¥ 8. 5,000 o008 o) Swe. 10,000 SDTertX] 523;?"*
Seodad%aeémod.

S5 83008 vhege BITO ST Be3 oo, SEBR, DR, BTTINYDY, To. 4,00,000 r<~
3000083 SPBWT. (@YD euEd STk 8. 50,000) 2080 SI0RBRRNE. SOH0 B°.
OMTdE Fese Bw. 44,000 IR [IPBeL n’zbwrcaﬂmmd 03y Bwe. 6,000 ne=
IBRE SPBOD J0FPE eﬁ&dvoaﬁm@d (90T IR 7W). Imn]eb) 33)@ STk I
3e. 10 Tod mewe BeRy JBabew eaas'oaﬂmad.

S BINT B 0D BEISE Boeed IGToNY Tenod wedadd), 30350020 :

Bsdem 1: g 8301 Bersert FOEIT* VBTN,

B0 2 B B3V 2k, I00ed Boed Be. 40 BerERET BACRT JeBONT.
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B.Com. DEGREE EXAMINATION MAY 2017.
Second Semester
M.I.L. - KANNADA (BASIC)
Paper 1
(Revised — New)

——= - Three hours Maximum : 80 marks

PR S03) WOBT BB AR SRBRMOTT.

a)  “@ory’ 3o SoeRwon IPT2T 303’:’31&‘3&%&58%&

I
b)  “800N BRCTL” 3G - ?ngai) Bpc), BOD), BIBNY mj@z.ﬁa&)ojjaﬁd - DI020. (15)
I addi% Bﬁ&&? w300 : (2 x 10 = 20)
la) =P
\b) mo;’%
c) eI vS

(d) 03003 T2ONES

(@) wBUeY 5aE0Wd0Y, B3[BT Bcoots Bert BIIZTNE? ISOD.

P
(b) wBeY F30wd0HE ok 200030 TDIVLT TY 0 30030 SD0. (15)
500 VB, 3B 2S00 : (2 x 10 = 20)

(a) B3 HoriR JBe3esod wiingo
(b) 3BEINY O BN ASFBEH

(c) eBrod %acﬁda S03) owds

(d) 252&cTa3
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wotle YT ov3d2D : (10x1=11
(@)  SoRF3od T3,ued BITerd?

(b)  aRRIoDead JoRnv BLYerd?

(c) BDoozTeD FeadoIT wHRY adRHwo?

(d) SBene nedes oinz BOTO0LTE, T3 553, BETINTIY?

(e) %D Fgob SeadFTL CIRT?

) wEenRd sar0wdob mobd adndy?

(8) B3, BRSO odwty?

(h) rOBAE 29 F02708T 7

()  Reod® BoBdod BRBeRL?

0 BRI wees” 5,37t BeT3 I3 adRFHBO?
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B.Com. DEGREE EXAMINATION MAY 2017,
Second Semester

ENGLISH
BASIC
. (Revised - New Syllabus)

Tiume : Three hours Maximum : 80 marks
Text : Imprints

Answer the following questions in a word, a phrase or a sentence each :
(10 x 1 =10)

(&) Who are the best teachers of other children, according to John Holt?
(b)  Where did Gangu find Gomti Devi?

(c) How many people did it take to make a pin?

(d) Where was the boat caught in the story Kartavya?

(¢)  Who is Monna Marianna?

() What is to be installed in the place of Television?

(g Who was named after Ramanujan’s father?

(h}  Where did the bright moon at once drop?

(i  Where was the thrilling sound coming from?

()  Who is the writer of the Poem “Because I Could not Stop for Death”?

~-  Explain with reference to context any TWO of the following, choosing ONE from
Prose and ONE from Poetry : (2 x5=10)

(a)  ‘People have given her a bad name for nothing.’
(b)  ‘How have you bewitched him so, tell us your secret.’

(c) Tt rots the sense in the head!

It kills imagination dead!

(d) ‘Since then tis centuries; but each

Feels shorter than the day.’




II1L.

V.

VI.

(a)

(b)

(©)
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Bring out the dedication and sincerity of Gangu with his employer and with
his wife.

Or

Narrate the feelings of Usha about her husband before and after the
accident.

Or

How does the Mother-Son relationship turn tragic in the lesson “The
Mother of a Traitor?” (1 x10=10)

“The damage caused by Television can be mended by an alternate to it.” -
Justify.

Or

Bring out the transience of human life and its aspirations as expressed in
the Poem “Obituary”. ’

Or

Discuss how the poet brings out the contrast between Mortality and
Eternity, in the poem “Because I Could not Stop for Death” (1 x 10 =10)

Write short notes on any TWO of the following choosing ONE from Prose and
ONE from Poetry : (2 x5 =10)

(a)

Pin making in “How Wealth Accumulates......

(b)  Schools without School Buildings

(c) Emotions of Lucy’s Lover

(d) Theme of “O What is that Sound!”
Correct the following sentences : (10 x 1 = 10)
(a) Joseph preaches Bible.

(b) Mr. Patil is an Union leader.

(c) You must respect his elders.

(d) The bunch of keys are lost.

(¢) One of my collegue is on leave today
() I am thanking you for your help.

(g 1comb my hairs twice a day.

(h) Shilpa prefers coffee than tea.

(i)  He has brought costly furnitures.

() She is my cousin sister.




VIL (a)

VIIL (a)

(b)
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Combine the following pairs of sentences using ‘wh’ words : (5x1=29)
(i) Raju has got good physique. It helps him in athletics.

(i) They want to help the poor. They are in need of help.

(iii) His mother scolded him. He came late.

(iv) Iknow very well. He has come to me.

(v) Prakash went to the ground. His friends were playing.

Give antonyms of the following : (5x1=9)
(i Appoint

(ii) Hero

(iiij Depart

(iv) Permanent

v) Entry

Write an imaginary dialogue between Mr. Kapur and clerk of a Bank for
opening a bank account. (5)

Clerk . Yes Please. Can I help you?

Mr. Kapur :
Clerk

Mr. Kapur :
Clerk

Mr. Kapur :

Write an application for the post of an accountant in a reputed company as
advertised in “The Hindu”. (5)
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B.Com. DEGREE EXAMINATION MAY 2017.
Second Semester
M.E.L. - ADDITIONAL ENGLISH
(New Syllabus — Revised)

. Time : Three hours Maximum : 80 marks

Text : Hues of Life : An Anthology of Short Stories

L. Answer the following in a word, a phrase or a sentence each : (10 x1=10)
() What was the hermit known for?
(b) What was the first question asked by the King?
() Who is Olga?
(d) Who is the notary in the story ‘The Beggar’?
(e) Name the author of ‘The Interlopers’.
(f  What was the feud between the two families?
(g Who is Kanan Manjari?
(h)  Which song was the beggar-woman singing on an autumn morning?
(i  Who gives the silver coin to the old man?
() Whom did the old man carry in his basket?
II.  Explain with reference to the context any TWO of the following : (2 x5 =10)
(a) T wished to kill you, and you have saved my life ...... ’
(b)  You see, you are my godson, in a sense, I gave you a push ....... ’
(c) ‘Remember not to scratch letters on the walls; its not that kind of house.’
(d) ‘More refugees — will there never be an end to them? We will all starve trying
to feed them even a little!”
IIl.  (a) Describe the incident which provided the answers to th\e King’s questions.
Or
(b) What role does Skvortsoff play in the reformation of the beggar?
(1 x10=10)
IV. (a) Comment on the significance of the Exercise Book in Uma’s life.
| Or
E (b) Narrate the life of the Refugees after the flood. (1 x10=10)
— ee————— s o
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V.  Write short notes on any TWO of the following : (2 x5 =10)
(a) The Hermit
( Lushkoff

c

(c) The Role of Nature in ‘The Interlopers’
- (

d) The old man in the ‘The Refugees’

VI. Use the following words as two different parts of speech in sentences of your

own : (5x2=10)
(a) chair

(b) watch

(c) sketch

(d) parade

(e) dance

VII. Write a letter of congratulations to your friend who has won the bravery award.

(1 x 10 = 10)
VIII. Write an essay on : (1 x 10 = 10)
(a) Education for Empowerment
Or
(b)  Skill India Initiative
2
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B.Com. DEGREE EXAMINATION MAY 2017.
Second Semester
C.L. - HINDI
BASIC
(New — Revised)

Time : Three hours Maximum : 80 marks

Text : 1) BRIEGIGITN FIe

2) oy ey
3) wFradigeor
1. fdgl q& 9 & Faaw IR forRau (10 x 1 = 10)
(a) BRIEKERR BT P FIGH 2l
(i) TEPIR (i) IEPIR
(iii) ol Rig
(b) BRMRRR T BT U A THIT 8?2
()  TSTPHA (il) oMEa
(iif) gToft gmII
() “Ruemersca” @R
(i)  Herd! anf (i) =
(i) R
(d) o ITT S IR Terd AL Bl
(i) Uge (i) =
(iii) SFETT
(€) “HEdIgEar @ e R
(i)  oHdR IR (i) eFeT
(i) TR




(h)

(i)

0)

(n)

3119-B06-IISC-R-M-17

R e e efdard _ qar
(i) TAIR i) 9

(i) T

TR IE® & 9SS B

() AR I TR (ii) MR AT o
(iii) 3@

egrufgm” SR

() GHIR el (i) gfeamy

(it) g Iq

B AT F AR DA 7T 87

@ = i) N

(i) e

g} D Cald

@) e (i) T

(i) od

T B _ __ Pf R oW B B wRa
() g (i) AT

(i) giray

- foft wswE gl

(i) T G W (i) @MW

(i) fRRISH Blsf W™

“Idaft” & forg __ OR e B

i AAES (i) sTdS

(i) rfecT T

B AT FT 3Rl T 2l

i shfya= (i) ey sy

(iii) oma e




gt | & TordT sare IR

(a)

g™ 7! A e § e,
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(3 x 5= 15)

(2 x 10 = 20)
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B.Com. DEGREE EXAMINATION MAY 2017.

Second Semester
: FUNDAMENTALS OF COMPUTERS
(Revised)

! Ti=e  Three hours Maximum : 80 marks

i ]

Answer all the sections subject to internal choice.

Question No. 12 is compulsory.

; SECTION A — (10 x 2 = 20 marks)
Answer any TEN of the following.
Each question carries 2 marks.
. (a) Define Computer.
(b) What are the characteristics of computers?
(c) Expand ENIAC and EDVAC.
(d) What is Recycle bin?
. (e) What is folder?
’ () Define CUI and GUL
(g) What are the major equipments required to connect internet?
(h) Name any two search engines.
(i) Name any four popular web browsers.
() What is TelNet?
(k) Abbreviate www and http.
()  Define E-Library.

SECTION B — (3 x 5 = 15 marks)
Answer any THREE of the following.

Each question carries 5 marks.

)

2. Explain the classification of printers.

(a2

Explain different types of operating system.

<. What is folder? Explain the steps to create and delete folder.




o

10.

11.

12.

13.
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Explain the steps to receive and save an attachment file.
Explain the features of Web browser.
Write a note on web surfing and web indexing.

. SECTION C — (3 x 15 = 45 marks)
Answer any THREE questions including Question No. 12 which is compulsory.

Each question carries 15 marks.

Explain Hard disk with neat labelled diagram.

Explain the windows explorer with diagram.

Explain in detail the services of Internet.

Explain how shares are sold and bought in e share-market.

Assume that you are working as a computer operator in Birla Enterprises, using
any of the e-mail service provider, you are asked to perform the following
activities :

(a) Create an e-mail id for your company.

(b) Write a mail to order electronic goods to Aditva Electronics, Bangalore
whose e-mail id is aditya@gmail.com.

(c) List of electronic items ordered is typed in items.xls file. Attach this file to
email that you are sending.

Write short notes on any THREE of the following :
(a) RAM and ROM

(b) My Computer

(c) WWW

(d) Search Engine

(e) Wiki
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B.Com. DEGREE EXAMINATION MAY 2017.
Second Semester
BUSINESS COMMUNICATION SKILLS
(Revised) |

—-—=: Three hours Maximum : 80 marks

Answer the questions observing internal choices offered.

Q.No. 13 is compulsory.
SECTION A — (10 x 2 =20 marks)

Answer any TEN of the following :
B $YNTR)NYES, 030HTITBTR ®3) Qéqﬁe?rﬁ U300 :

(a) What do you mean by upward communication?

Soeend JoZzE BorsedIonTeRO?

(b) State any two advantages of Grapevine communication.

g w0 RoDEE BOBEBT 0IOHTITTR HTHED RIBLOINIBY 3YRD.

() What is trade reference?

mémd gueied 20B3Bed?

(d) State the 4Csin a sound credit policy.
Ui 0 De30HAT T, Csniga, 23000D.

(¢) Mention the parts of sales letter.
23,03 I3 FonnIs), $9A0.

() What is a circular letter?
B3 ee SFBorsesd?

(g Expand the following : COD and FOB.
COD =353) FOB 2382 030808,

(h) What is Minutes?
0833 =80 0B3RBT




II.
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(i  What is Collection letters?
SRS TINYL H0TBEETO?

(§) What is Formal communication?
BI3208 0TFF BorfeBBorBesdO?

(k) What is a quotation?
WS 3RWT BedPorvesy?

() What do you mean by letter of enquiry?
D300 T3 SondesO?

SECTION B — (3 x 5 = 15 marks)

Answer any THREE of the following :
BYNTI)NGD 0303 3E3R So.zao‘i% eU3020

Briefly explain the importance of communication.

ROBTE 0TCBTW TR0 B0, FogFTeN ITH2D.

Write the essentials of a good business letter.

U3 FTHI0 TIE BT,T eosrYR), WD,

Explain brieflv the objectives of Sales letter.
JZ0b I emdoeéﬁe}dl F03F oM JZOD.

Write a letter from a Bank to a customer expressing its inability to grant loan
against personal security.

080000 [TN LSF METON I3, WK WITL Fevmod FOTT), Foddod Py3ob
3500 Boees whzen m%mﬂa@&q DOTH Y20,

What are the circumstances of writing a circular letter?

B3R e wBodT FoTI Yy 0de))?

Explain the characteristics of effective speech.

TOHIRTD PoR e Oﬁmr{e}&a Eeinfelle}
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SECTION C — (3 x 15 = 45 marks)

-=.swer any THREE of the following including Question No. 13 which is
compulsory :

=2 303 13 SEREI0UIY, VYTV, AR)TEHTL J0B> LR eugoLD

~xplain the media of communication.
1:58F JoBeBw m%mnqw’tmm&

- nat is meant by Report? Explain the different types of report.
30 20B3BeR0? VG I70T 56&0.1)&2{&)562,6.

rite a circular letter announcing the shifting of business to new premises.
= SHITIT), BAT 3¢, 3¥030R B9 2,0T0 B3RSy, 2B0D.

write a letter to the LIC of India requesting for a loan of Rs. 50,000 on your life
-olicy and reply to the above letter by LIC, of India.

-",:n@ e DI TOX0D FoeeS Bwe. 50,000 e QerRITod 303e0dh 26T DI K)ﬁ:nﬁ; 20030
=3 w000 D3 FoedT BB, wem B ANRODOT V3T 20D,

Zxplain the occasions of writing complaint letter. Draft one model of complaint
_etter.

508> TZNYRY, wB0dNT ZoBPERYR), WB0D Hore 0IRZTIBTR WoB BATO B3H ITO
28000.

case Study Analysis :
5508 ¥R DBER :

a)  You are appointed as accountant in a company. Draft a joining report to be
submitted at the time of reporting for duty.

ey U7, 3Pon 2,083 FoBHALY, FeoT BooBYD. Beasrt ZedgRd)Fen, Feldnt Becos
STBODLIY, 30ddD.

(b)  As a General Secretary of the college, write a letter to the Principal about
the grievance of the students.

20T FoSeRT JPos TIOLFBEF oA ITBENY 3HoTSNIRY, 8003 9,080
g, 230D,

(c}  Write a letter to your customer, regretting your inability to execute an order
for the supply of “Vivo” smart phone sets, owing to exhaustion of stock.

“DF¥p DA Fped  TmIRY seﬁdoméh c‘():x)@ M®BFOR ©o3IT  eded Q;aq}joo
Bmgeggsowcw% ARWR, 8red ATTTFTHOD I3, WIaVY. p
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B.Com. DEGREE KXAMINATION MAY 2017.

Second Semester

ENTREPRENEURSHIP AND SMALL ENTERPRISE MANAGEMENT

(Revised)

T:me : Three hours

Maximum : 80 marks

Answer ALL questions subject to internal choice.

Q.No. 13 is compulsory.

SECTION A — (10 x 2 = 20 marks)

. Answer any TEN of the following questions :
8 FYNTINYd adnI)mente &3) IZALT ev3dAD

()

Who is an entrepreneur?

emagsabéee) 2003 03307

What is entrepreneurship?

emdzsméee):a’ DHOTTBeO?

Who is an innovative entrepreneur?

m&)a%&ﬁab emjzsabéee) Q0BT 0d5pT0?

State any two objectives of EDP.

emdzxdaﬁeoé @@%@(Daaai)s‘ajabd OB emcieérﬁ@éag 3920.

Who is a Woman entrepreneur?

Do&wd VT80 03T 0dPTL?
Expand the inllowing :

B 6@?%3@(12}@1 QR0

(i) NAYE

(i) AWAKE

What is small scale industry?

ﬁe% emﬁ?go DOBEERVO?
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(h) What is handicraft?
30BZ Q0nTeRO?

(i)  What do you mean by project formulation?
odeexme ACRTH doBBeRO?

() What is a project report?
03,0¢%mo ITH DoTBeRO?

(k) State the types of financial assistance to SSI.
389 URRNIT QeROT BTAT FTIT TToONIRY $¥28.

() Name any four Banking Finance Companies.
oV Srjiariafe¥n) Toe, wazso?:on6 B ITORD 603:‘0@5& B2030.

SECTION B — (3 x 5 = 15 marks)

Answer any THREE of the following :
8 FYNT 03393300300 BAetd FINYE), V300 :

Explain the role of entrepreneur in economic development.
sBes BPIRoDY BT D08eoOT TITTY, IS0

Explain the classification of entrepreneur on the basis of tvpe of business.
UTRIBOTO 4 AT J - HTE FFo0w Boed T [o8eeT SNer TS ITOAD.

Briefly expla:+ the objectives of CEDOK.
CEDOK® eui~3n¢m), sogzzmahn 3020

Distinguish - veen small scale industry and large scale industry.
26 euRRL DI BT MIT LLBRINY BRIV J I FITY, 8920,

Give the meaning and features of project.
adeezmiod @ Farle ronwgnnYs) 390,

Explain the functions of SIDBI.
SIDBIod> saodFnem) 25020,
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SECTION C — (3 x 15 = 45 marks)

\

s-swer any THREE questions of the following. Question No. 13 is compulsory :

= 24AF ezl Souad!% &3 00. g‘g’,éiﬁoa% 13 u’aaao:bmhd :

Zxplain the qualities and functions of an entrepreneur.

£ 3.308:0% RORegnRdR), 303 Fo0dF YR, HZOAD.

Zxplain the various theories of entrepreneurship.

e‘-:;g.doéeoéai) AR %m(poéﬁe}ai% 3020,

~.scuss the various factors which motivate women entrepreneurs to undertake

=mirepreneurship.

=259 B Bo8ewdrt U EOBeI 0T 3R0¢ 00 BUZeriROT AT ©03nYRY D500

Zxplain the stages of entrepreneurship development programme.

r.3.308ew3 &B?Dde@@ﬂcxiw@dod B0INYDY, AID2D.

=xplain the Non Banking Finance Companies which provide financial assistance

-- small scale industries in India.
303890 38%9 emaozﬁori@?ﬁ BOTII® 35&01)523% 2B NI mzso%oﬁesd DT 503@{1@&0{
2=020.

>repare a Project report on setting up of a fast food centre or mobile sales and

service centre in your place assuming yourself to be promoter of that project.
tede B FIIFTT0T eby XY 0nRBNY, 8038 ©mT I0dndT geoy, wgm AU

SRovks R Feo Feot, TyToPROT euE BTN odeewTs ITBOLT) 30d0d20.
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B.Com. DEGREE EXAMINATION MAY 2017.
Second Semester
Paper II - MANAGERIAL ECONOMICS
(Revised)

Time : Three hours Maximum : 80 marks

ALL sub-questions should be answered continuously.
Draw diagrams wherever necessary.

All Sections should be answered in the same answer.

SECTION A — (10 x 2 =20 marks)

1. Answer any TEN of the following questions in two-three sentences -
FINT IR Temte B3 Eja;ﬁ@r? DTBO-IRTY aaifzsr\’QQ V30D :

(a)

(b)

What is Perfect competition?
Esforfolils B I et Dordery?

Give the meaning of equilibrium price,
AR08 RcoR 2330k »FE AeRd.

Mention any two types of Monopoly.
mﬁmﬁ%d QIS TIBTL VB ?-.)J’Fadn’e}mq ®3020.

What is price discrimination?
ALS] sad:s‘mzs Q0TTeRO?

Give the meaning of monopolistic competition.
mas%ains :u;aé’;aewab OFE AeRd,

Define Oligopoly.
®e), um@aﬁ% as%a)azsm.

What is Price Policy?
BS ed dorBemy?

Give the meaning of “Dual Pricing”.
&g?ina) WBSod eps Jead.

What do you mean by economic profit?
Zlaled oaz,dsmcl 0CY) masmgea?
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() Mention any two assumptions of profit maximization.
eyl ndgdod QOB méﬁ@&diz’,b%&

(k) Define Business cycle.
Q@0 238,33, TN

() Whatis Economic Boom?

3T mj%dodo QOTBERO?

SECTION B— (3 x5 =15 marks)

Answer any THREE of the following questions :
2IAT 030 TIBTR SweT0 BRI U300

Explain the features of Perfect competition.

terinhiia J'J;J-’Qjaewqb e)gme:mqwaz,&

Ilustrate the short-run price-output determination under Monopoly.

wﬁmﬁ;ﬁ% S000T eswow@m VOIS B WBS3- ms&a& &)qmrddabd DB A

Discuss the kinds of administrative prices.

$EYFIT WSNY B50RYR, BBFAD.

Explain the Innovation theory of Profit.
arYAIn) eﬁg)m‘pcﬁ %mﬁoé:ﬁaﬁi DZ020.

Discuss the features of trade cycle.

D W OFIvR), BBFAD.

Calculate accounting profit and economic profit from the following data :

Particulars Rs. in crores
(a) Sales Revenue 12,000 )
(b)  Product cost 5,000
(c) Depreciation charges 2,000
(d) Advertisement €Xpenses 2,000
() Miscellaneous expenditure 2,000
(ff Interest on his own capital 2,000
(g Wages for personal labour 6,000

e U ..
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o

$YAR ®0d-v08nY 3H20LD0G d!@d 0y B uhrs e:az;!d&gt FoBO LR0LY :

dIYR BR0E8 Bo. Mo,
a) BPTE smIoD 12,000
5 VI S, 5,000
o) RIBY Beg, 2,000
d) 20&c038% 325& 2,000
el 93T Seried 2,000
1 3038 woBmYE Boeds B 2,000
g A08 ZI 309 6,000

SECTION C — (3 x 15 = 45 marks)

Answer any THREE of the following questions in which Question No. 13 is
compulsory :

TN 36530 Banch B9 6ugd2D. BRUd I8 z0al 13 BEaodmend -

=Zxplain how price and output are determined under perfect competition in the
short-run and long-run. '

forijntsla :o‘;@aew daadoﬁ&ijon (A1} ) m%@ﬁ@o &903@52,5 03 aemrdaobém zer
-’.icjrbﬁegoca’ogﬁ - J=020.

—xplain the features, reasons and advantages of price leadership.

e :u)omeﬁsad G tlaLSNE PlofTa 0 303 &Bmﬁﬁ)wérﬁ@ﬁ% AD020.

lustrate the price-output determination under monopolistic competition.

0003 FApes RRTOTH DO 238 B3y euIRriY AgerOSEY AF D,

Jiscuss the objectives and methods of Pricing Policy.

25e5 Qedod mzfgzcsrieb 33 amawa% 32820,

=xplain the various measures to control business cycle.

T 0 wg, dabozrn 20G FonYsy H30LE.
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13. Caselet:

A firm has demand and supply schedule as given below. It has to determine the
price for its product on the basis of demand and supply in the market.

) Price in Quantity demanded Quantty supplied
s, ‘ (units) (units)

5 500 100
10 400 200
15 300 300
20 200 400
25 100 500

Questions :

(a) Name the type of market structure.

(b) Draw the demand and supply curves

(c) How the equilibrium price 1s determined?

d) Whatis the equilibrium price and quantity?

P

2,8 AB.IPT
) )

rwoths #BES PG Beds 3 ANV S, 2NT0sY. ZRCUTLEA0D WeBs FoNA
e wgas Bredon 38, e BNy A BRI ETONT

(AL SeBBod IR BpYBod FS
SR.Ned, D) (Fe3Bried)
5 500 100
10 400 200
15 300 300
20 200 400
25 100 500
IBR

{a) 3380883, ST oD ajaadﬁaiod%ﬁb%&
(b) Wedd NS Ejclefcievy deaﬁﬁ@r\gdz&;’o&
() =IBecT 2363 Bert AEor SonIZB?
(d) RI3ecO 2363 3 JTI 030038307
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B.Com. DEGREE EXAMINATION MAY 20 17.
Second Semester
Paper II - FINANCIAL ACCOUNTING
(Revised)

. =—= Three hours . Maximum : 80 marks

Attempt all Sections according to internal choice.

Use of simple programmed calculator is allowed.

SECTION A — (10 x 2 = 20 marks)

Answer any TEN of the following :
3UNT Sems B3 3FNIN gu3020

.a)

{b)

What is Account Sales?
2%, ST, HoTBERO?

Mention the types of commissions on consignment.
308> Coedob BeRgnY B50ngS, BROA0.

Ascertain the cost price of goods from the following. Goods consigned at an
invoice price of Z 2,00,000. The invoice price was fixed at cost + 25% on
cost.

sehg Smi3anon SR 000 BSabR), T0E> HROWD. #1300 B0% B VSO,
Sryrids, TR, T, 2,00,000. FWFO 3od B3 Foew BE + Fopo Bdab
Be. 25 o3 BARTITT.

What is hire purchase price?
23081 OB 2363 HoTTVERO?

Who is hire purchaser?
B 3030 0BT 08T 035807

What are the objectives of branch accounts? Any two.
D30l d%&ﬁe.?cbd emdocém}o 0350))? 36T HTBO.

Give the journal entry for the transfer of profit in branch account.
Zo3od eazpzsmdaimrzﬁﬁ INRII)BC BRETD Do JekBO.
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How do you allocate the following expenses among the departments
(i) carriage inwards (ii) carriage outwards?

5 NS JeRemy NN Bert BowdAD : (i) 35> DOD TIPS 23, (ii) =o
BT 7O 3237

State any two advantages of departmental accounts.
Dgehecd> SE Y Wesor odn)se H0E <, 0dRenTrvR), 892

What do you mean by normal loss? Give examples.
PITNT, 9F, HoWTERO? SLWBTE JeBD.

How claim of amount is calculated when av erage clause inserted in th
Insurance policy (i.e. write formula)?

DD B0A0DLY adrITesst TX° 3RBATIN ST sﬁo md 301)& FORY HLBIVF)YT
aert (©ond 13, WB0D)?

Prepare a statement of fire claim from the following data :
Value of the stock on the date of fire — ¥ 25,000

Value of salvaged stock — ¥ 3,000.

s NS 803 ®o3nYor o D5 BT, g3 I0D 300D :

@Qm&éaimd DT05To0 ';zdo éu&aﬁ 33’0% - Ow. 25,000
@Qm&@dmh L] éwé 33’0% — Bw. 3,000.

SECTION B — (3 x 5 = 15 marks)

Answer any THREE of the following :
SYNT Se50m Foegd, eu30R0 :

Calculate the abnormal loss and also prepare abnormal loss account from the
following :

i)

(i1)
(iii)
(iv)

M consigned 500 fans to N at ¥ 600 each.

M paid ¥ 25,000 for packing and forwarding charges.

30 fans lost in transit.

M receives claim of ¥ 9,000 from the insurance company.

3 NS S&IoW0T @mdoad aid‘idab O HBOWD FHarte eﬁdmﬁ a)aéod)m B 303530020 :

M o3 N 83018 500 aaanie) de. 600 38 )50 710063503 G0 dwa 3.
M T50) wa 80t 303) Gmes DWOE 2080 Twe. 25,000 N TS 0.
moraeddaddd 30 R R*rieh HARAYMAS,

DB F0TD0T Be. 9,000 S0BTI®Y, M 8300 IEDCLST.
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Prepare the Branch Adjustment Account from the following data :

4
1) Loading on Opening Stock 2,000
iii) Loading on Goods sent 20,000
{dii) Loading on goods return 4,000
iv) Loading on Closing Stock 6,000

(v) Closing balance of Branch Expenses Account 3,000

o EIAT 908 ¥o3nRLoT Toalod BPOTOTS aJacsodoaﬁgl 30350020 :

3.
(i) ZToy ey, Soees amga B0 2,000
(ii) Ooes ZoBONY Boeds BP0 B 20,000
(i) DT, WOB zgBonY Boees BwWIFO B 4,000
(iv) @033 e, 20ees msousa B0 6,000
(v) o8I DBOENY w3l 89033 W 3,000

-

(a) Prepare the Petty Cash Account from the following figures :

(i) Pettyon 1.1.2014
(ii) Cheques sent to Branch for petty cash

(i) Petty cash expenses incurred during the year

o $YNT ¥od Z’»oai?sﬁe?od BT SRTY mswmdsomaz,b :

600
1,000
800

3.
(i) e sndd w3 1.1.2014 Qo3 600
i) %8 I Deemen o3t B&IT T 1,000
(i) 20140¢) B80T INBO DWF SPBBY, 200
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(b)  Pass the necessary adjusting entries on the closing date of accounts in t
books of H.O., whose accounts closing on 31st December, EVery year.

(i)  Provision for depreciation at 15% on Gadag Branch assets wor
< 2,00,000.

(ii)  Goods supplied to Koppal Branch on 29.12.2014 worth 2 20,000 we
received by the later 3.1.2015.

(i) Bellary Branch remitted ¥ 10,000 to H.O. on 28.1.2014 but H
received the same on 4.1.2015.

B FINII)rieRy Ra) sefedad &8, BRTB. Beomesidod @DSNIR), DDA
S0 Feedab &8 B3Yo B3 IR B0wo* 31 Ford SVBORITT).
(i)  n@n Zas3ad Bwe. 2,00,000 SPOT eyid Boedd e, 15 Bo3d 3389 3rodnZa.

() B 29.12.2014 Dowd> e3¢ Zoalit de. 20,0008 ATKNYS, TARERA
00 3393 FORNYR, 350 Zaasodo 8. 3.1.2015 ocd> 562y

(iii) W0 Zaa3odv Ge. 10,000 mxmﬂ 8. 28.1.2014 gord geow, Bejednt Yok
803 Seow, Feledrt o S03 300&(3%6. 4.1.2015 Sot.

Give the examples of expenses for the following ratios :
()  Sales Ratio (any four)

(i) Purchase Ratio (any two)

(1ii) Area occupied ratio (any two)

(iv) No. of employees ratio (any two)

DY emmaasa"m}c‘\ig=l FINT ¥BOTeIRIN 3000

i) Soovets 8T (e Toew)

(ii) BN T T3 (Weson DTRD)

(i) 1 8B B3 (Sevar D0BO)

(iv) Awodad 203, ©RBOTI (eTn DTRO)
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Prepare a statement of firm claim under average clause : »
%

(1) Fire insurance policy was taken 45,000

(ii) Value of closing stock on the date of fire 60,000

(ilij Value of salvage stock 10,000

odn=Bezs® T2FE03 Of ABW BB W3 SO 3035020 :

dwe.
(1) N IBP TR 3ncoBR0RT 45,000
(i) whpes8cind DRR08BORO 9B BT SO 60,000
(iii) eﬁpasoaabah LT e, 350 10,000

Give the format of Consignment Account.

308> Cme 7030 SRRV, AEBD.

SECTION C — (3 x 15 = 45 marks)

Question No. 13 is compulsory (Case Study). Answer any TWO of the following
remaining :

133e B3 TwIOH (3808 ¥G00T). ouos IBYS Wesd DOBY, HUIOAD.

Prepare the necessary accounts in the books of Akash from the following
particulars :

(a) Consignor : Akash
(b) Consignee . Arun
(c) Goods consigned at invoice price . ¥6,75,000 (4500 fans)
(d) Loadingon goods sent . 20% on invoice price
() Consignor’s expenses
Packing and Forwarding charges : ¥45,000

i) Goods lost in transit : 450 fans
(g) Claim from insurance company : 48,500
(h) Consignee’s expenses :

| Godown rent and selling expenses % 47,500
(i)  Goods sold by consignee . ¥7,50,000 (3750 fans)
4) Commission to consignee : 12% on sales
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B 3YNT ITVNY0T &55°C30 e et als] SR méﬁ@d& 3010020 :

(a) ROB TedweT . um
(b) RTB SPTE3 I,39 : ot )
(c) R0 13 BeIpd 2eSadd),
ROBIYR), T2, ge. 6,75,000 (4500 ma,8orieh)
(d) O B0BonY Soees BeF0 Beo . B30 28 Jedod WeSab Soees Be. 20

(e) RTB TdwaTo ﬁzsurie.}o

DYBoN® 03 T dzsu . Gw. 45,000
(f) maﬁonmoﬁ FLTB 0B . 450 EEXOALM
(g) S3» FoZAoDOT BT pr oty . Ow. 48,500

(h) 0B SPTE3 J3090DST wzsum:o
OISR R Tare I00E3 ﬁzsu . Oxn. 47,500
(i) AT S00¢3 B3APOIL FoTeks 0BT FTB . B». 7,50,000 (3750 mzsa‘m*o)

() RO Com Bnoets T3P Bene . BP0 Boeet Be.12

Manjunath Traders, Hubballi offers Maruti Car for 21,00,000 on hire purchase
system. The cash down payment to be made is ¥ 3,00,000 and the balance
amount is to be paid in three annual instalments of 2 6,00,000 each together
with interest at 10% p.a.

Canara Bank, Hubballi is also ready to lend the vehicle loan of ¥ 21,00,000 at
10% interest p.a. payable in seven annual instalments of Z 3,00,000 each.

From the above information, you are required to prepare the following two hire
purchase charts :

Chart 1 : Amount payable in three equal annual instalments (after cash down
payment)

Chart 2 : Amount payable in seven equal annual instalments

6
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PARES LRIV AN L) a)u@? 9=8> Ce. 21,00,000 2sod ST FTTY, ol a)ae&
-“sow@ deBen BFYAAWIT. odw. 3,00, 00063 300RE B B0w0R IPRIF)TBL0DT m%
2233WY, O 6,00,000 To3 [edd SoaFs dodongsy, 3¢ 100 wéo&faoarﬁ 200
TRBWBOB.

230 moa‘ &w@ QITO SAEG, 3e. 107 u%odoo:-? dwe. 21,00,000 I3, TIBT T TNTBE
";ambmod. Os. 3,00,000 o&eT 203703 DY FXET ToIONFD, B0T2030 IIPBIIHTBY.

=56 S9309000 Iow) 4 24AT03® HTBY BN DOV mum@a& 3035002.

aese 1 Rty SeAET 3R 30R0NYS B F0T0D IPERRT (I0oNE B F0T0LT
$030)
L FE 2 1 DY DOXET B3 F030NYS B F0W03 INPBIRTO.

Apeksha and Co. Ltd., Bellari has a branch at Hassan. The goods are invoiced to
he branch at 20% profit on invoice price. The branch has been instructed to

send all cash received to H.O. daily and all its expenses are paid by the H.O.
From the following particulars, prepare the Branch Account and Branch Debtors

Account.

3

(1) Balances on 1.1.2010 :

Stock (Invoice price) 1,00,000

Debtors 30,000

Petty cash 2,500
(i) Goods sent to branch {Invoice price) 5,00,000
(iiiy Goods return by branch (Invoice price) 10,000
(ivy Expenses paid by H.O. 1,50,000
(v)  Cash Sales 2,50,000
(vij Credit Sales 3,00,000
(Vﬁ) | Discount allowed to customers 9,500
(viij) Bad debts 25,000
(ix) Balances on 31.12.2010:

Stock (Invoice price) 1,50,000

Debtors 53,500

Petty cash 2,000
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oIBego & To. O. W0 /3D BIARTA Zoas ﬁJao&mad »dﬁ)ﬁejm szsosa tA13] By
8e. 20 Bo3 ey’ e.-sﬁm S35 wooo.oaad 330 B0 waoaésaoa’ zoocf DY Jrick:
I3 O S50 TeIedr TS ﬁ.@c&ozx edcé&m Bfobd Inens DY ;stsa
FeJedovomese e SREIJTN IFO3AS. éa NS IJoNYor aaafodo v
ZB0D Beedaso msmfai% 30350020 :

gw.

(i) Bm20% 1.1.2010 God

2030 é&% (I.P) 1,00,000

TOMTTO 30,000

BT SR 2,500
(i) D3 &AW 3T (I.P.) 5,00,000
(i)  zesloow ST, WOt VB (I.P.) 10,000
(iv) SR TeIedoLOT BRTBI AT sﬁzsumfo 1,50,000
(v)  Snw Snooks 2,50,000
(vi)  &UED Sooks 3,00,000
(vii) Mo®»3OM VeFoL Reek 9,500
(vili) TR T 25,000
(ix) Q208 31.12.2010 ;

0B 8y (I.P.) 1,50,000

TOMTTD 53,500

BT SN 2,000

From the following information, you are required to prepare departm
Trading and Profit and Loss Account for the year ending 31.12.2012 :

Dept. A Dept. B Dept. C

Particulars 4 3 3
Stock on 1.1.2012 20,000 18,000 16,000
Sales 1,00,000 80,000 60,000
Purchases 50,000 40,000 30,000
Wages 15,000 10,000 5,000
Stock on 31.12.2012 25,000 20,000 15,000
8
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e Commen expenses @

qu Rs.

Da . e

. (i) Bad debts 12,600
(i)  Discount earned 6,000
(iiy Rent 15,000
(iv) ~Office salaries 20,000
(v)  Advertisement 96,000
(vij Carriage inwards 18,000
(viij Labour Welfare 12,000
(viii) Electricity expenses 3,000
Inter-departmental transfers of goods :
A to B-3% 15,000
B to C-% 10,000
Other information :
(a) Area occupied by each department ratio 5 : 3:2
(b)  Office staff appointed ratio 5: 3 : 2
(c) No. of light points ratio 3 : 2 : 1
oy BYNT  BR 37530008  Jerwety YTV 3y ey R CEY 23930308,
8. 31.12.20120 SIFT 3080 DSBorO 3037020 !

al i A B dyen C
DITNRY - T 3. oR.
%08 Sy 1.1.2012 20,000 18,000 16,000
SRk 100,000 80,000 60,000
00D 50000 40,000 30,000
300 15,000 10,000 5,000
7083 8, 31.12.2012 25.000 20,000 15,000
. 9
i
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mzbaags DWOFNY :
o,

i 30 o 12,000
(ii) EVAIRE) 3658(3% 6,000
(iii) 2ooBm 15,000
(iv) TeIed Ireg 20,000
(v)  29&%eTad> 96,000
(vi) ~momogise of, 18,000
(vii) TAFTT Sy 12,000
(viii) DT Sesries 3,000

¥03T dyanngddod IoBonY Irec3ss

A oor Brf - dwe. 15,000

B avom C - dw. 10,000

B3B3 303

(@)  dzrarined wort 3,038 w3 - 5: 3 : 2
(b) Te3ed 2208 BeRedd oxoms - 5: 3 : 2

() VY3 mOOEFRY 503 9BOTI - 3:2: 1

3128-B21-IISC-R-M-1

On 28.7.2014 fire occurred in the premises of M/S. Sangameswar stores
Chitradurga. The following data are available from the records of the stores.

(i) Debtors on 1.1.2014
(i)  Debtors on 28.7.2014
i) Bad debts upto 28.7.2014

(
<(iv)  Cash received from debtors

v) Stock on 1.1.2014
(vi)  Purchases from 1.1.2014 to 28.7.2014
(vii) Rate of gross profit on sales

(viii) Value of salvaged stock

You are required to prepare :
(a) Total Debtors Account
(b) Memorandum Trading Account

(c) Statement of fire claim

10

z
3,00,000
4,00,000

50,000
10,00,000
2,50,000
9,00,000
30%
95,000
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wﬁzﬁoeéd BRET (Acfavialy u3tns) O. 28.7.2014 Towd eﬁﬁnaaoér&/aoéd RRETE
maa)c;asodo eacpadcf 3oees B8 190 0310 oz:i =oNS :

Ow.
(1) Bedmasto B. 1.1.2014 dord 3,00,000
(i) SeedmoTTL B. 28.7.2014 gotd 4,00,000
(i) I°@ o B. 28.7.2014 god 50.000
(iv) Beedzevdor wor JRwo 10.00.000
(v) =930 8en, 1.1.2014 dowd 2,50,000
(vi) 2dedd. 1.1.2014 dow 28.7.20143 I3 9.00.000
(vii) Do Boed wed), YR W3S 3e. 30
(viii) eaflmaosoi)aﬁ VYT éo% 255‘3% 95,000

el WS Fmen 303579020 :

(a) uwwdecsaadd 93

(b) SosoToro &eBon® 2303
(c) oIS BT, AR =00

Case Study (Compulsory) :

Ratna Ltd., had a branch at Belagavi and furnishes the following particulars as
on 31.12. 12 All the expenses are pa1d by the H.O. and all collections are
remitted to H.O. daily.

4
Stock on 1.1.2012 12,500
Debtors on 1.1.2012 15,000
Petty cash on 1.1.2012 500
Goods sent to Branch 1,00,000
Cash sent to Branch for expenses 2,000
Cash Sales 30,000
Cash collected from Debtors 42,000
Credit Sales 58,500
Discount allowed to customers 1,500
Stociz on 31.12.2012 37,500
Debtors on 31.12.2012 30,000
Petty cash 31.12.2012 500

Prepare Branch Accounts in the books of H.O. assuming that :
Case 1 : The entries are made at cost price.

Case 2 : The entries are made at invoice price and invoiced them so as to show
20% profit on cost.

11
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daa .83 weimaod)@ aaajodom &rao&a’o zaalodd DER)_ aSerwm H.O., w338 Iy
asari/a 339301)@ (Aleln] ﬁsaai“b wé&(xﬁ H.O.8 5«:33 fﬁ%mdzsea‘aﬂ edeéagmad. 31.12.201
2903 rmeéos It zﬁoaooéo:odgt F¥NTod ﬁﬁéédoacp.

o
308 1.1.2012 Sordy 12,500
Beedtratdd 1.1.2012 dowd 15,000
®¥QY 8wy 1.1.2012 dordd 500
ZaI1 59L& 3TBON 1,00,000
DN 323318 59r&%203 SR 2,000
/RO SI00ees 30,000
Beedod0w For &t Srcoy 42,000
0 Jovats 58,500
MaBTOM 0ed S0L3E) 1,500
308> 31.12.2012 Bowd 37,500
teedwodcdd 31.12.2012 Jordd 30,000
BT 8w 31.12.2012 Sord 500

& NS eB 0 B850 el H.O. BFBBS) D083 ma’abdaq 30353903 :
J[FOL1: e BSaD ISEE Sekd.

500 2 : %?3%58 ﬁ,odoﬁééj welo i F3nds S8, Bune 3o Doees e, 200 ex
SIBY £z&g§8 3,00 wéédo.i)(\i& ZROBOTT0.
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SECOND SEMESTER B.COM. (REVISED) DEGREE
EXAMINATION, APRIL 2018
(M.LL.) KANNADA (New Syllabus)

VOB T WOTNY KOTOT, L3RCTHTZE
Time : 3 Hours] | [Max. Marks : 80
. RN R ma;_; WO 5)%71" NS0T QCBSOMITH.

1. ‘o33 zs’égdde@zﬁ &Soecdadoe e:ao:-ﬁas BIEBRCTY ~ D02 BRI BIEIE sowaajﬁ
PR DT 2RO 303 2:3oR0.

T
0. 359.380. 7003083 RT 2,68 DOTHL) ? QETORD. 15
2. 35 adcsg ROTPF BRI zi%e#dsa SRAE (5%2=10)

1) Qe S Beds BRIE 528 B3 Foesend,

ih) Qo YRLNGRY Dead @@L BRGOROD BoBrsERe.
iil) 238 @TeIesod® eimemd.
IV) 9830 2080 23e8 o3 SO 03 B

3. Bemd adcséﬁ 8308 2080000 : (5%2=10)
i) Reedadd cawomd@a SlevRelanioy
i) oF, BoUFSr o= FIQOOD MO
i) 2. nOToSe TOSHISBT 08
iv) ﬁraemomﬁg_y 003 éag(cé 208,

4. BOIT BreRBoDd DT dw&&rﬁ%ﬁg{ BRI 530200 &IEo0,

Q@OD.
BT
:gsos WeRRODMTIONRLD 36 wégd @oﬁog doé_oo Cnfel a’@mdgr{e}@t
003 WBC0D. 15

[P.T.O.
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5. oInRRTIe ITEE, BORLF BRBS ﬁj&eédm eRd

i) Soee), 30T, BB,
ii) wwo® 23980300%30 1RRE ? SRPEIOOTTR tHafrTat~devernientplaplel

iii) DBee D)y, WP AT RREeEs 0TY, 200730 WHTIESS.
V) e3R0 BRSOV ?

6. 35T HTHEY, 83363 LBW0 (5%x2=10)
i) Bog Brernnd w300 23033
i) Dews TS RO
iii) 250w ZPed
iv) 3300 9308,
(1x10=10)

7. NS ey, JFnen 20T m%d@memgam :

i) ‘BT 05y BWOGT LTS TR ?
ii) ‘SeeEso LT BT 03B 3B 8 ?
iii) 0. 2. OIS 3R F3N 3603, Aok, BT BB OPRT 7
V) $3309E30 5T0BT C30Es TEN 25 mﬁ&ed BT OPRT ?

V) 03,00 0339T0 ?

Vi) B 3nes SROTS SIS ?
vii) 3038 00DTT orsod BRSER ?
viii) 23%0% o3R8 ?

ix) 2&ResdRRY OO BOFRRVATIFI O3RTD ?

X) ‘TR LWO 32830 - QT CIRT T ?
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SECOND SEMESTER B.COM. (REVISED) DEGREE EXAMINATION,

. Time : 3 Hours]

APRIL 2018
BASIC ENGLISH
(New Syllabus)
Text : Life and Learning

[Max. Marks : 80

I. Answer the following questions in a word, a phrase or a sentence

each.

(10x1=10)

a) What is described as a bond without the seal by A.G. Gardiner ?

b) Where did Toynbee deliver the lecture on “India’s Contribution to
World Unity” ?

c) ‘The heart of so great a mystery cannot be reached by one road
only’ — Whose statement is it ?

d) How much did the Loisels pay for the necklace ?

e) Where was Sher Singh Bahadur when his younger son was sick ?
f) What did the doctor tell Sher Singh about his brother ?
g) Where did the poet see the spider ?

h) What form of poetry is ‘La Belle Dame Sans Merci’ and who is the

poet ?

i) Which Mughal king is mentioned by the poet in ‘The Last of the

Princes’ ?

j) What is the theme of the poem “Ballad of the Landlord” ?

I. According to Toynbee what are the major contributions of India to World

Unity ?
OR
What are the hardships of jungle life depicted by Norah Burke in ‘My
Brother, My Brother’ ? (1x10=10)
[P.T.O.




4084 -B01-1ISC ~-R-A-18 -2 ll|I|||IIIllII|Il|I|I||l|||l|||||I||||||IIl|l|||IIII|I|I|l||||||l|||||||ll|||lIIIII

How does Whitman’s poem ‘A Noiseless Patient Spider’ relate the
human need to connect and build bridges ?

OR

Describe the downfall of the Mughal dynasty as depicted by
A.K. Ramanujan in the poem ‘The Last of the Princes’. (1x10=10

_ Write short notes on any two of the following choosing one from prose

and another from poetry.

a) Mathilde Loisel.

b) Humor in ‘On Shaking Hands'.

¢) The knight-at-arms in ‘La Belle Dame Sans Merci’.

d) Tenant and landiord in ‘Balled of the Landlord'. (2x5=10)

Correct the following sentences. (10x1=10)
a) Do not make friend with selfish people.
b) He turned a deaf ear to the advices of his elders.

c) The news of his arrest have spread like wildfire.
d) One must keep one’s words.
e) Nobody have turned up for today’s meeting.

f) The two sisters are very fond of one another.

g) He and myself wentto a movie.

h) All but | were present at the meeting.

i) It is more hotter today than yesterday.

j) | take pride to serve my country.
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VI. A) Combine the following sentences with appropriate conjunctions
given in the brackets. (5x1=5)
[and, because/as, not only...... but also, as, but, though]

a) Rajesh was poor. He was happy.

b) The sun rose. The fog disappeared.

c) Alice is a good teacher. She is a dancer.
d) | respect him. He is an honest man.

e) John teaches prose. He teaches grammar.

B) Fill in the blanks with proper adverbs and adjectives. (5x1=5)
a) This is the of the two books. (best/better)
b) We went than three miles. (further/farther)
¢) Hunny is than Bunny. (elder/older)
d) ltis cold today. (bitter/bitteriy)
e) Heisa experienced man. (much/more)

VII. A) Write an imaginary dialogue between Peter and Mary on the road

work that is going on. (1x5=5)
B) Write a short speech on the Republic Day celebration in your
coliege. (1x5=5)
VIIl. A) Imagine yourself as Raju/Rani of Hubli, write a resume for the post
of Manager in ICICI Bank, Bengaluru. (1x5=5)
B) Write an advertisement copy for a smart phone. (1x5=5)
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SECOND SEMESTER B.COM. (REVISED) DEGREE
EXAMINATION, APRIL 2018
M.E.L. ADDITIONAL ENGLISH (New)
Text : The Curtain Raised
Five One-Act Plays

. Time : 3 Hours] [Max. Marks : 80

. Answer the following questions in a word, a phrase or a sentence

each : (10x1=10)

1) Who are Ben Jordan and Henry Slatter ?

2) What does Mrs. Slatter replace for the bureau ?

3) With whom does Abel Merry weather want to get married ?

4) Who opposes the ban on animal sacrifice in the play ‘sacrifice’ ?

5) Whose goat is sacrificed to propitiate Goddess Kali ?

6) Name the protagonist of the play written by Laurence Housman.

7) How many hangings had the New Hangman assisted earlier ?

8) Who is the protagonist of the play ‘Mother’s Day’ ?

9) Where did Mrs. Fitzgerald learn the personality changing tribk ?
10) With whom was Doris going out ?

Il Explain with reference to context any two of the following : (2x5=10)

1) Are we piching it before Aunt Elizabeth comes ?

2) I'am guilty, sire and | dare not ask for your pardon,.

3) I'haven't brought an assistant, Sir.
)

4) She was smoking and playing cards when | came in. | couldn’t
believe my eyes.

[P.T.O.
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V.

VL.

VII.

VL.

Discuss the rivalry between the two sisters as represented in the play
“The Dear Departed’.

OR
Comment on the ending of the play ‘Sacrifice’. (1x10=10)

Discuss the theme of the play ‘The New Hangman'.
OR
Compare and contrast the characters of Mrs. Pearson and
Mrs. Fitzgerald. (1x10=10)
Write short notes on any two . (2x5=10)
1) Victoria
2) Queen Gunavati
3) Chaplain’s personality
4) Doris and Cyril

Use the following words as two different parts of speech : (5%2=10)
1) Present

2) Graduate

3) Chair

4) Paint
5) Book

Wirite a letter of congratulations to your sister who is representing our country
as the cultural ambassador to the USA. (1x10=10)

Write a paragraph on:
Digital India.
OR

Uses of a smart phone. (1x10=10)
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SECOND SEMESTER B.COM. (REVISED) DEGREE EXAMINATION, APRIL 2018
C.L.HINDI (New Syllabus)

Text Books : 1) sh1re W |

2) anforeg e |
3) wfercdieur |
%ime : 3 Hours] [Max. Marks : 80
|. Foregl qm sl & wdt 3w faRaa | (1x10=10)
a) ‘I IRE TRITH & T 2 |
i) ST g ii) TTHTHSIT SRy iii) 3T JHIIH
b) ST TRIER ¥ TueH g
i) TTeTTe i) g gem iii) BT, ey
C) ST SIS T S g3 o |
i) shreft ii) TRER iii) 3eITETETg
d) dasht % TgE@ Hi § |
i) 72 whferr i) HHRIEAN Hidar iii) BHETETE I
e) ‘TS Fyfe’ =R
i) HETea aut
DK REACRELICIRENSI
iii) wHTe
f) ‘gue @ de% 9% E2Cai
i) gftre i) Ferrem iii) 9a

[P.T.O.
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Sgeft & wenre fema T AT |

g) T W TET
i) 1988 ii) 1995 iiiy 2000
h) e TR fawg § . e an |
i) & i) FIf iii) F&pa
i) Tfease 1 U AW 2
i) T HHA ii) TS JRETA iii) TS AT

j) TRt StET AT A,

fop et & ew, T arn g ¥ R T
HE
i) FgA * Fid
ii) o
i) ST SrgT S
k) YETE’ w1 A g1
i) Sl i) I8 iii) T[T
) TR 1 A @
i) TSt ii) A iii) B
m) < ey LRGECRS
i) gy ii) iii) TG
n) ‘sifg @1 4g ¢S & HEN2D
i) d ii) gfeaar iii) froen
o) feght § T T S uEE 9 @ R
iy Sh.sft. T ii) oAt US iif) afoTSt




! N0 0O 0 A 3-
L ot o o) i e i
a) ArerEn fsn ¥ geme
oeT 3R gE # fregwt
g 1 8 L AT Sfaa
fora 2 Tan T

b) st Fft wrrer ITHY ury
By TSR Tel el aF
fova @8 @r

c) W& Tt § et & foet & ww
TAE AT et THH IF F |

d) @ a1 & 3FR foreft
fireft et e Tf &
AR 3T T
fo frem-
R R G4 | oft Bear
e, whe b W, ot -

e) hicraT Fedey &t Targ ?
St TR g
F FH8 TE
=t TR ;1T |

f) 3T 7E 3T & ==
3R fig 2 misat &, 7% miers § |

4088 — B06 - IISC - R - A - 18
(3x5=15)
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11, foree 2t ol o e fafae (2x10=20)
a) ‘r STl % G W U veal 7 R |
b) ‘< 3 FgA’ & W § fed whidaT FgA % Tfd Hiaar & R
T HIfT|
¢) “UHid F A’ A ) % S FS TE SEan 9fed i TG
¥ atfael 9U % SER W gEdA FHY |
d) & s K rfireater Ta F gatt Y Hiwar § | e A |

v, Tt wes Ry w iy free fafa | 20
a) femn |
b) Aresdl 3 FHIEA|
c) ¥ |
d) stwa. . (G.S.T.)

v. Trefafaa e i Hawor HieT | 15
TS ) ST T T R | 36 T & e T | T R T T g
o 2 | G T T WS T ST Tl | T STefr i F@hld | &
o7 1 T | T TRET 3wt oTar 3. @ e B I HH T 3T
791 @ T | T % WY AN T IR | PR e 31U 3aen! get
< s T 1 TR TR R 9T TS ) gt SR TS T U9 | TRER
3R g T & W IR lw?ﬁﬁaﬁ%&mﬁ%%maﬁw%
R S TS ) S i orewe ¥ | frea R R | s g
s § weue] @ B 3 Y AR G R F | 1 TS 6 T o o

el g oI T TR 7
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SECOND SEMESTER B.COM. DEGREE EXAMINATION, APRIL 2018
BUSINESS COMMUNICATION SKILLS (Revised)

Time: 3 Hours] [Max. Marks: 80

Instructions: 1) Answer all questions observing strictly the
internal choice offered.

2) Neatness, clarity and precision carry due weightage.
3) Question No. 13 is compulsory.

SECTION - A

1. Answer any ten of the following.‘ (2x10 = 20)
Wt BZE UZ0R0.

a) Who is Communicator ?
2083353 0T3S O3RT 9

b) What is visual communication ?
G, Re30 Bowss RordeBomdesd 9

c) What is status enquiry letter ?
BOBRY NIV 2, oTTeRd 9

d) Expand the following :

i) W.W.W. i) S.M.S.
BENSIHNISY, DFORD.
i) W.W.W. i) S.M.S.

e) What do you mean by circular letter ?
ROE e 0w Deedemd @odaﬁrao@é%b 9

[P.T.O.
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f) What is Fire Insurance ?
SHYA Q0TTERD 9

g) What is Bank Reference ?
LIR,0F° T VD DOTTERD 7

h) What is Report ?
ZTO 0TTER 9

i) What is Agenda ?
QTOD T, 20TTERD ?

i) What is interview letter ?
ROTIF T B, 0TBe ?

k) What is political speech ?
TO&ICO LRRED QOTTEID ?

l) Give any two occasions for lodging complaints.
TRTY W0 TR #odzﬁrﬁ@d& 3RR0.

SECTION -B

Answer any three of the following. (3x5 = 15)
FINSYNYY, LezoTs Toecy YVBORD.

2. Briefly explain various elements of Communication.
T0TBF ROTIEST NG m:waosm%% #o%g’mﬁ DO,

3. What s electronic communication ? Mention various types of electronic
communication.
??J%agd Rozsr BoT3e8 R0T3BeR 7 DTS BOTBF FOTETE DT ZTTNER)
0.
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4. Write a letter to your credit customer demanding the payment which is
long overdue.

WBY DINPOTT 2308 LUPOTET B0 TR IRBL Fe9 I L0T0 MOTIN
2WOT T, LBCWD.

5. As a Secretary of a Limited Co. write a meeting notice to the Directors
of the Co.

20030 QO3 FOTROL F2OFTEF TN AT eTFONR 2,073 B0 RRITD
8, 280200,

6. Explain the characteristics of a effective speech.
WOTD WOTOTOTOO LRTWEIT T san’e}dgl QTOXD.

7. Write a letter to LIC of India to Inquire about the loan facilities available
on your life policy.
QR 23 D TR OROD e MO TP TRTOINIHTR), PORD L2B3ecD
BIEET $3E3I0 FOTIN 2,080 B, LBLD.

SECTION-C

Answer any three of the following. Question No. 13 is compulsory. (3x15 = 45)
FINTRINGS, w0t T, $uZdR0. BB Rosd 13 Fw@ 0N,

8. Define Communication. Explain the principles of an effective
communication.
ROXTF AOTTT LBF BEPO. TOTORIFTO HoTTE RoT3eST 3?357\’@:35%

QTDAO.

9. Modern Furniture Co. Hubli asked you to furnish the information
regarding financial status of Ajanta Enterprises Hubli. Write a favourable
reply.

TDRTIE FPIFWO® Fo. oﬁo%@ QWD VTN L9WOTD N0LIT'H 3 RA® B0
B30 BOWAS WFRRING 7, Fnted FevTHT. LHOR GREROHS T2y

2B0200.

:

D
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10.

11,

12.

13.

As a Bank Manager, write a letter to a customer expressing inability to
grant advance owing to inadequacy of the security offered.

TR,TICD QORI L30T IREITF FeooNCRYTOOT T LTI T =E m@m
aocﬁa 3R 23,05° TWRFERO® BTN 2,000 T, WwTLD.

As a Company Secretary, draft a meeting notice mentioning
i) Declaration of dividend.
ii) Appointment of Auditor. And also draft resolutions.
2,080 BOBOD T O TBE NN
i) P03 T
i) eﬁ%ﬁ@&aezjﬁd 3@&’)355&3( RRN3RI 2,000 FLIOD BRI :z.w,;_ ITIRER0.
=08 dca@n’@#sg( Alelevblo}

As per the advertisement in Prajavani paper write an application for the
post of FDA in a aided college.

TS FETO Y03 23080eTET IROTOT 1,07 IRTRI TR LTZ, LODTY,
B, T.R. BT 20T 23 WTO0.

Case study question (Compulsory):

TFTED VGODT T (FFAD)

a) Because of ill health it is very difficult you to attend the election duty.
Write a request letter to D.C. to exempt you from election duty.
STOTRETLT F2TL200TS LTI TOOFE, TOWORMDI T B¢ TR,
3 To0L0 WARYPTIONGR 20730 TO[D a’ WO BT TE ?*“—@cd
QNTICAE FRCDD.

b) Write a letter to Corporation Bank to provide safe locker facility.
P Fe FPOY wBNFLO TP 3w 2T 087F 20T T, LBCL0.

c) Write a letter to your Principal to give one month’s time to pay the
college fees.

mmm%@m eﬁac% TOTDOI TITEY 2,070 SN T oI LeRI=03
Fow ad% 232,030 C2OF O 20T T, T,
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SECOND SEMESTER B.COM. DEGREE EXAMINATION, APRIL 2018

Time : 3 Hours]

FUNDAMENTALS OF COMPUTERS (Revised)
[Max. Marks : 80

Instructions : 1) Answer all the Sections subject to internal choice.
2) Question No. 12 is compuisory.

SECTION - A (10x2=20)

Answer any ten of the following. Each question carries 2 marks.

1.

a) Who is known as father of computers ?

b) Mention the different keys of a keyboard.
c) What is the use of control panel ?

d) How do you create a new folder ?

e) What are icons ?

f) Name any two secondary storage devices.
g) Mention any two web browsers.

h) Expand LAN and WAN.

i) What is E-mail ?

j) Mention any two internet service providers.
k) Name any two search engines.

[) Name any two education related websites.

SECTION - B (3x5=15)

Answer any three of the following. Each question carries 5 marks.

2. Explain the generation of computers in brief.

3. What is folder ? Explain the steps to copy-paste and cut-paste

folder.
[P.T.O.
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4. Explain My Computer icon with diagram.

5. Explain internet explorer.
6. Explain the advantages of E-mail.

7. Explain two social websites.

SECTION - C (3x15=45)

Answer any three questions including Question No. 12 which is
compulsory. Each question carries 15 marks.

8. Explain the parts of a computer with neat block diagram.
9. What is software ? Explain the types of software.

10. Explain the services of Internet.

11. Explain any five accessories in window.

12. Say, you are working as a computer operator in XYZ Computer
Academy. You are asked to perform the following activities using any
of the E-mail service provider (with necessary diagram).

a) Create E-mail id “XYZcomp18@gmail.com” for the Academy.

b) Write an invitation mail and attach the soft copy of academy annual
meeting.

c) Send the same copy of E-mail to multiple mail address.

13. Write short notes on any three of the following :
a) Printers.
b) Classification of computers.
c) Graphical user interface.
d) Types of Network.
e) Library websites.
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Il SEMESTER B.COM. DEGREE EXAMINATION, APRIL 2018
ENTREPRENEURSHIP AND SMALL ENTERPRISE MANAGEMENT
(Revised)
Time : 3 Hours] | [Max. Marks : 80

Instructions : 1) Attempt all Sections according to internal
choice.

2) Question No. 13 is compulsory.
SECTION - A
NI - &

1. Answer any ten of the following. questions in two or three sentences
each. (10x2=20)
éﬁhﬁaﬁ)m’q wezr s§§ QTT 23530 AT mﬁgr{@@q YVUZORD.

a) What is an Enterprise ?
VT 20T3TeRd 9

b) Who is an Innovative Entrepreneur ?
ST N EHOZTT cIndd 9
c) Give the full form of the following :
i) NAYE i) PMRY
FINSING Zpeor draa’qu 2080200,
i) NAYE i) PMRY

d) What are handlooms ?-
% dorj\ﬁeﬁodcfem ?

e) State any five opportunities for women in Urban areas.
ate] BBEBTOT R&PIONTRT 205 @dﬁéﬁ@dﬁ &R0,

[P.T.O.
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f) Define Entrepreneurship Development.
quaioéeoé OO &) 3, BRRO.
2 5°3
g) Mention four non-banking institutions assisting Small Scale
Industries.
REQ m%&’nﬁ@ﬁ R0 BRBIGTIN LY, m?so%oﬁe:%d BEFTORD ﬁcm;ﬁeé;g
SPRD.

h) What is project profile ?
oo TB,FU0 2033 7

i) Name any two Acts applicable to SSls in India.
OTBRE, R, %m@%ﬁ@ﬁ @agsojomzbdoé TR TORRBINTT, ZROA.

j) Whatis financial analysis in case of project ?
3,002 3RS ROLORRTOE BroTORT DILRES Q0BT ?

k) State any two objectives of KVIC.
KVIC 03 T engeeﬁﬁe}sg% R0,

) Write any four major problems of Small Scale Industries.
138, QMY LY ZRo0ed BRRNFSY iNoloveie)

SECTION-B
N - W

Answer any three of the following. (3x5=15)
FSNTYNIE) eTT oD ZBrien ¢ugoRd.

2. Distinguish between entrepreneur and entrepreneurship.
SaTASEN NS emdesaﬁoée@é QNS agsaaén’ﬁeidgt DA,

3 State any four positive aspects of entrepreneurship.
emdéﬁoée@éoso LY wgaimosﬁeéag S9AD.
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4,

Explain the need of women entrepreneur in the economic development
of India.

T3 eﬁz;brsamddc;ao:be;,, &% NT TS F3ne 655;5301)3% NDOD.

State the functions of DIC.
8@Mmqﬁoﬁ%€ geos sao:brﬁ%fabq 390,

Explain the steps involved in project identification.
300 dperSona, MSFRRTIOS Soe3eon 200,

What are the features of EDP ?
NS @?,,sa’g)% T ODF BTN @ﬁf@ﬁ% o3 ?

SECTION -C
PN -

Answer any three questions including Q. No. 13 which is compulsory.

(3)( 1 5=45)

FINSIYNGS 23503 R @’{n’@ﬁ em_so@m. gg x’o@% 13 ( TITED ez%o:od)
sca%ojomﬁ%

8.

9.

10.

11.

12.

13.

Explain the different types of classification of entrepreneurs.
NTEdeeT 2363 w3ed Gxplotey dﬁres’dsaqu QO

Whatis entrepreneurship ? Explain the importance of 'entrepreneurship
in the process of economic development.

NTESCOB 20TFed 9 e SRFT ZNSoDS L3 do&%aﬁd& DTIOR.

Explain the project management process.
303 adress DEVERETNew BTV QTOR.

Explain the problems faced by the women entrepreneurs.
0% emc;‘smée@da QTVOROT "_")m’é’sﬁ%i DTOR.

Explain the various types of financial assistance available to SSis

through Financial Institutions in India.
IRTITE) z’)sga 3 MROBNOR BeasoRd #of-—\"gf% LTNBISTT NG D80 SRFT

o

ﬁmo:bddoq O,

Give project profile for any manufacturing Unit.
CANTYTHTTR 2o YUTDTTD T m%r&ae&s BREO.
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SECOND SEMESTER B.COM. DEGREE EXAMINATION, APRIL 2018
Paper — 1l : FINANCIAL ACCOUNTING — Il
(Revised)

Time : 3 Hours] [Max. Marks : 80

Instructions : Attempt all Sections according to internal choice.
Simple calculator can be used.,
0307 waigﬁ@n’mmmaaﬁ DR RNNCT GV 020,
oY 5, ey EeE30° Vol eNTLIBI.

SECTION - A
QTN ~ &2

Answer any ten of the following questions. (10x2=20)
FENS ez 2 TINRert Lugoo.
1. a) Who is consignee ?
R8O WRTIE TG 20533 3R 9
b) What is “dependent branches” ?
“UBOOWS 08 NPT ?
c) What is Normal Loss ? Give example.
RITIF, T 0TTE ? LOTHTIE De@0.
d) State any two objectives of branch accounts.
TOETD S33NY C3N)T3e HTED w%ea*mfa’ai 90,

[P.T.O.
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e) What is non-recurring expense ? Give example.

RSTIRBF O3RN aSzi QOTBE 7 UTRTOT eBO.

f) What is Instaiment based Purchase System ?

302 503 DD T3S QOTBE ?
g) What is insurance claim ?
DR BB, W3 DOTTERD ?
h) What is salvage value of stock ?
BTG, BBOSCIRN SOTTI B, WY, QOTTE ?

i) What is Goods-in transit ?

TRRESBODOTIT B[R 0TITED ?

i) What is the journal entry for “cash-in-transit” in the books of H.O. ?
o0sD), Bede00m RIS, “TRTESEODOTIE SR S0 Bt TS
OSRT)TO ?

k) What is inter-departmental transfer ?
€2030° - QDLTON WF T DOTTERD ?

) What is “Hire Purchase System” ?
“RR DO THRE” DOTTER 2
SECTION - B
QLN - W

Answer any three of the following questions. (3x5=15)

BLN 236TOT TOHLTY @%ﬁ@ﬁ SUZORD.

2. Distinguish between proforma invoice and account sales.
SR IS w@i TR SRV VOONG IBODD %@ﬁﬁ%ﬁd& SP0.
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3. From the following information, prepare Petty Cash Account :
a) Petty Cash on 1-1-2017 Rs. 675-75
b) Cheque sent to branch for Petty Cash expenses  Rs. 1,675-75

c) Petty cash expenses incurred during the year 2017 Rs. 1,175-75.
81 39N BR&0ENPOT WQT IR 000D, BARORD.

a) 1-1-2017 S0 ado= z%equ JINH dr. 675-75
b) 28038 SR esrTN W0 TRB T BT 35S Bre SR 1,675-75
c) 2017 GQ NDF INEBT ?,363,’8 INTD 3dn. 1,175-75.

4. From the following information, find out :

a) Abnormal Loss

b) Value of consignment stock.

i) No. of cell phones supplied : 200 cell phones at Rs. 3,000 per
phone.

ii) Packing and carriage expenses paid by consignor — Rs. 18,000.

iiiy No. of cell phones lost in transit — 20.

iv) No. of cell phones sold by consignee — 150.
33 FPNT SR&INSOT
a) OTWOEB TR
b) 08> Aok TR HPY R FRELECD. |

i) R0B TS SHRRT FeF{pe NS Rosg, de. 3,000 B,303p0zsted 200

R e b,
i) A0 TSm0 ToReAT TR,BOT® TR TS dai — dn. 18,000. ‘
iii) ATEFEODNY, BFEEROT B Fpea Ry Kosd — 20 !
V) R0 ©R0E BV BROT B° PR NS o3 — 150.
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5. Gagan Co. Ltd. acquired a refrigerator from Swati Industries on
1-1-2015, of the cash price of 93,000 rupees under Hire Purchase
System, payable Rs. 25,000 on signing the contract and the balance
in 3 equal annual instalments of Rs. 25,000 each at the end of each
year. Interest is charged at 5% p.a on remaining amount.

Prepare the chart showing the calculation of interest and instalment.

D008 1-1-2015 Towd AR, 3 faocé%)geafdﬁ@od ANt 50T OWE®
BN LOED wcﬁaéoja 0eed By wTerso® SDOEDAT), 00 INTO W03
d%. 93,000 9T, 2,300, R T BEED 3. 25,000/~ TREL IT BRIFI),
3n. 25,000 508 [RTI THAFT 3B TIRD FoBoNTY, T8¢ TRFT Ao
F0T0D TJRTE wgﬁmo@d&@& 2030 R3n D¢ IRFE B8 5 T3
w@écdaa’g{ 38, 030TIOTON L8 9T BRIE &0ed TomETIeR.

Fo 0B L, FoROBLBOINTTIY, 3RCORI WL T SCIRO/G.

6. A fire occurred in the premises of Devaraj Cloth Stores, Hassan on
31-7-2017 and considerable stock was destroyed.

The following data is available on that date :

a) Stock on 1-1-2017 Rs. 22,000
b) Purchases up to 31-7-2017 Rs. 62,000
c) Cost of goods sold up to that date Rs. 52,000
d) Value of salvaged stock Rs. 12,000

Find out the value of stock on the date of fire.

Tesoos® BRES® AR, THRST IRTeRE). HIeos 31-7-2017 Totd e
STOBITIONGS TN AR, KTBNED T3RPOB.

B3 2SN 908~ OB &3 HVTOTD oz%mﬁd.

a) 1-1-2017 S0t a7 RO S, on. 22,000
b) 31-7-2017 SR3R THRRT DOD dn. 62,000
C) & OIBTIR SRTILTHT TAING L, dr. 52,000
d) @Qm&&éo&mﬁ OPTI LY, =30 dn. 12,000

BNPROSCINT OF FSTBROT RTFS RI°Y, FORWRBOWD.
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7. How do you allocate the following expenses ?
83 NS aF IR et ousd SIRTIVO ?

a) Bad debts
TR FOON

b) Carriage inwards
DD TRAT FTB WMdE e,

c) Electricity charges
ébd%a‘ 33

g 23

d) Repairs to Machinery
030Z R OFTed

e) Canteen expenses
LX) ﬁzi

f) Insurance on stocks
LIOM RT3 aeed QT

g) Advertisement

20003

h) Recreation expenses
TORTORTD dzi

i) Air conditioning expenses
®em QOO 2,

j) Commission.
BT (dm@g&).
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SECTION - C

QTN-3
Question No. 13 is compulsory (case study). Answer any two of the
remaining. (3x15=45)
13 S B3 BrEod (FE0r VGODE). 0T FINPY, et ST $UZ0R0:

8. Mahesh purchased one Machinery from HMT Ltd. on Hire Purchase
System on 1-1-2015. The terms of payment are as follows :

a) Cash price of the machinery was Rs. 5,04,000.
b) Amount paid on signing the contract Rs. 1,35,000.

c) Balance amount paid in three equal instalments of Rs. 1,35,000
each on 315t December every year.

d) Interest charged on outstanding balance was 5% p.a.

e) Depreciation was charged at 20% p.a. under reducing balance

method.

Prepare necessary Ledger Accounts in the books of Mahesh.

63508 1-1-2015 Som) SRS TRDD s 3. &3, ©. BT 20T odaogda’%
308R DOCR ﬁcg)éoda 200¢3 3R0RIBROBIL :

FINT0S BED ROTIVOTD WRBD LHOTTING.
a) oo SN B3 Sre. 5,04,000.
b) ua?)ocﬁ% Lo BOBITTON OO RRBT B9 TR. 1,35,000.
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C) YUYW o%’saﬁa’g{ aR. 1,35,000 o3 300080 80T BoBoneE) =&
TRE BR0WTT 313070 FOTIOD TRBIJTD.

d) 28 Bega Boed s 3e. 5 Tod 2B IRERT.
e) dairﬁﬁ 3e. 20 ToB 9030 wd@éoja TBOT AEY SO0,
BT TIT PRITE, Skl 3TDIN, LIBCD.

9. Bharat Co. Ltd. of Bangalore has a branch at Hubli. The goods are
invoiced to the branch at 20% profit on sales. The branch has been
instructed to send all cash received to the head office daily and all its
expenses are paid by the head office.

The following is the summary of transactions for the year 2017 :

Rs.

Branch petty cash on (1-1-2017) 200
Amount receivable from debtors on 1-1-2017 8,000
Branch stocks on 1-1-2017 (at invoice price) 20,000
Goods sent to branch (at cost price) 80,000
Expenses paid by head office for :

Rs.
Petty cash 1,400
Rent ' 6,000
Stationery 3,000
Salary 24,000 34,400
Cash sales 58,600
Credit sales 70,000
Goods returned by branch (at invoice price) 2,000
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Cash received from customers 60,000 1
Discount allowed to customers 3,000 |
Goods returned by customers 5,000
Branch petty cash on 31-12-2017 400
Branch stock on 31-12-2017 (Invoice price) 25,000

You are required to prepare Branch Debtors Account and Branch
Account in the books of Head Office.

T3 B0. O, LIONeRth B0 Ty oD, TS BROOW) , KOBTIHRS 50D T3k
Roees Je. 20 ToB e &BOX TA3N %%fo&o%)csa@d T30 TTBS BTN
20003 DE)_ BT Smaﬁa’% B OB TS Be3e0N FPRER BT STTR) 795300
BRI O, dziwa’i TP BLIEOCA0T Wi TWRTIYTTN LT ORTINGS,
2017 e IRFTRE FRHITNG FT0B FINT0LS :

on.
Q08 1-1-2017 Tomd Z0a30DOT 8T SNed 200
Q208 1-1-2017 Tomd 3z Besstnvdon wBeEs S8 8,000
0F08 1-1-2017 Tom 300 ﬁé,i 373003 RO b, 20,000
T3 FEOBAT TS ToR© 2363 80,000
TOT Fe300W0T ZRTWINRT e :
oR.
BT SN 1,400
BN 6,000
REBSO 3,000
RO 24,000 34,400
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SN W03 58,600
SUTIO ERTHES 70,000
BT TR, 2O RTB (B oDTeIpI0Z) 2,000
M,BBOT BRRLIN LIOT BN 60,000
Mo,BEON WeBRW, Ak 3,000

| ’ MTBFOOT AT T8 LOTT, 5,000
31-12-2017 Zomd 398 SN S, 400
31-12-2017 Soto R0 dey, (§O§D w% Qﬁ@bé) 25,000
ZEOs B13e003 FFTRE, T&Ik BeedrnTs s58 H0F3 Foadod aPFONEY
clovipleritel

10. On 30-9-2017 fire occurred in the premises of M/s Kamal Stores, Haveri.
The following data are available from the records of the stores :

Rs.
a) Debtors on 1-1-2017 2,24,000
b) Cash received from debtors 6,75,000
c¢) Discount allowed up to 30-9-2017 22,000
d) Bad debts up to 30-9-2017 9,000
e) Debtors on 30-9-2017 2,70,000
f) Stock on 1-1-2017 1,80,000
g) Purchased from 1-1-2017 to 30-9-2017 5,84,000
h) Rate of gross profit on sales 25%
i) Value of salvaged stocks 50,000

Prepare a statement of fire insurance claim.
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11.

301 800 BRe0*, FoSed wmoeewy) Q. 30-9-2017 T0T LNMMBISRLORT.
RRSOT DTSR ST B0 B3 FINT L90BMed O emoNES !

oY
a) Becdtodd &. 1-1-2017 2,24,000
b) TeedmodD0oT WoTs SN 6,75,000
c) Ared Lz 30-9-2017 22,000
d) 33®> e 30-9-2017 9,000
e) TecdoTad &. 30-9-2017 2,70,000
f) Ro® é@% 1-1-2017 1,80,000
g) Doed . 1-1-2017 dots 30-9-2017 5,84,000
h) &808 30ed 2utd), R U3 3e. 25
i) @Qm&éMﬁ ST de, JPY, 50,000

B3 20O DRVHBRYOT @n AP 55% mdéé’ 230 3037004

From the following, prepare necessary ledger accounts in the books
of Akash Co. Ltd.

a) Goods sent on consignment — 600 Radios

b) Invoice price of each Radio is ¥ 1,500.

c) Cost price of each Radio is ¥ 1,200.

d) Akash Co. paid ¥ 18,000 for freight and insurance.

e) 25 Radios were totally damaged in transit and Insurance Co. paid
% 30,000.

f) The consignee tools delivery of the rest of the Radios and paid
% 7,500 for carriage and octroi and ¥ 10,000 for sales expenses.

g) 500 Radios were sold at ¥ 1,800 each.

h) Consignee's commission was 5% on sales.
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AN 98300007 BF3 Bo. A PFTRY, WBFT 03N, BoIROR0.
a) TAIT ATBNYY — 600 SeRodensd
b) B SeR03RT B0 WS Tes — Be. 1,500
C) m8 SerodnT @ ¥ — ak. 1,200
d) 553 0. ErL MR WRR = Hib — 5. 18,000
8) mMoedond, 25 SeroiPNed B0 TIANBIPATY 9TE,
Q& 8o Be. 30,000 ) TWOTTHTd DERT.
f) Do eI SeRaiAnvR) HSERD Hrth o3 LRPreR
ARNRLO FMESE 308 K208 s0dF BR. 7,500 353) Tts
R33N de. 10,000 NE) Brebiteys.
g) Tr. 1,800 To3 @& 500 Tero3pnFR) 2fowd [N SRBTS.

h) Spoeus Soees 3e. 5 Jod dmm@ojosi B0 Dot
ai%mdmﬁ@aﬁ.

12. X Co. of Hubli sent 1000 bags of rice to Y Co. of Bangalore on
consignment basis. The cost of each bag is Rs. 500. The expenses
of X Co. were — Packing Rs. 1,000, Freight Rs. 1,000 and Insurance
Rs. 2,000. 100 bags of rice were lost in transit. Insurance Co. paid
Rs. 40,000 towards the claim. Y Co. received the remaining bags
and paid Rs. 500 unloading, Rs. 1,300 for octréi and sales expenses
amounted to Rs. 5,000. Y Co. sold 800 bags of rice at Rs. 600 for each
bag. Y Co. gets Commission af 5% + 1% del-credere Commission on
sales. There is a bad debts of Rs. 1,200.

Prepare necessary ledger accounts in the books of X Co. Ltd., Hubli.
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13.

Borgod X 30030 1000 98 weontdsy PBonsndS Y 80TAR BT,
Bé 98 wWeon e K de. 500 QTIBT. X FoTHCI F¥NT0Z S0edF
TRET.

ol FL3eo Te. 1000, wanr dr. 1,000 =02) L35 dr. 2,000.

Uood ZoBRFEe), 100 860 3030 TARRYIONG. BT TOTTTN e
0BT Te. 40,000 R, [OTTN EREITOZT.

Y 300000 a@es 9 weonds) Odesed WA FINT DWFNFTY
TRBITT.
PENYRY a¥Reo BR. 500, %598 de. 1,300 =) BRook: e ae. 5,000
BRUTOZT.
Y BomR0d 800 23ew 930, B8 wewd Te. 600 802 [RU0E TREG.

QUEN Y BomRC30 WRoLT B¢t 5% + 1% B8, B3° T BR0TR® TEOD
o“os%mdmf\c?. Y 3030330 3. 1,200 300 TowmoNT L0T0 S9RT.

TOWROD X FOTAOD PRITY, W, F 0INT), BC3R0A.

Case study (Compulsory) :

The following particulars are taken from the books of Mutla Company
Ltd. for the year 2017.

Particulars A B C
Rs. Rs. Rs.
Stock on 1-1-2017 30,000 26,000 22,000

Purchases 80,000 1,40,000 60,000
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Sales 1,50,000 1,40,000 1,30,000
Stock on 31-12-2017 36,000 20,000 28,000
Wages 20,000 16,000 12,000

Common expenses :

Rs.

Salaries 24,000
Rent 12,000
Discount received 5,600
Labour welfare expenses 12,000 *
Electricity 2,800
Inter-departmental transfer of goods :

Rs.
AtoB 8,000
BtoC 6,000

Other information :

a) Area occupied by each department equally.
b) No. of light points: A-4,B—2and C ~ 1.
c) No. of employees: A-12,B-8 and C - 4.
A) Calculate profit or loss of all departments.

B) Suggest which department should be closed ? Why ?
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35 S9N RORYRY 2017 Fe FTFE ToTy TOTL VODRIT FITOOT
IRRBRYOING.

RATTN A B C
. gn. ge.
1-1-2017 3 AT éwﬁ 30,000 26,000 22,000
0L 80,000 1,40,000 60,000
RT3 1,50,000 1,40,000 1,30,000
31-12-20173 X3 ), 36,000 20,000 28,000
3RO 20,000 16,000 12,000

xarmmsg DWFNTO :

an.
Ceanle 24,000
woBn 12,000
RRed TETR) 5,600
FE0FTT B, €9 T3, 12,000
adosé‘ 2,800
£903T DWONNFPA 03 FTBONG TNMOF ST
TR,
AJoTB R 8,000

BowC R 6,000
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a) DR, DML FZOToN B 53,003,

b) 2T, TooWoEFNY Boss tA—-4,B-2=03C 1.
C) ,%z%o@o:b:sogﬁzs :A-12,B-8 03 C—-4.

A) 2 DPNNY ot 5w &a&oﬁoﬁg{ FOBOLERD.

B) 03538 &degonadsy, wotd BIREUIEB 7 DT ? VA,
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SECOND SEMESTER B.COM. DEGREE EXAMINATION, APRIL 2018
Paper — 1l : MANAGERIAL ECONOMICS
(Revised)

Time : 3 Hours] [Max. Marks : 80

Instructions : 1) All sub-questions should be answered continuously.
Draw diagrams wherever necessary.
2) All Sections should be answered in the same
answer.

SECTION - A (10x2=20)
1. Answer any ten of the following questions in two-three sentences
INT IRFToTte B TINOTE QTR-TRT I NI GVZ020 :
a) Define Market.
mm&g} DDAV
b) Define Monopoly.
aa%mdw% 3SR

c) Give the meaning of optimum firm.
Slarigvlia YOO PUBT & E&O.

d) What is Reserve Price ?
TICN0RT WS 03Besd 7

e) Define Selling Cost.
RT3 =, DY ATDA.

f) What is Dumping ?
‘wWoone’ 53T,

g) What is Full-cost price ?
@’pz‘ara"zi S 2030 9

h) Give the meaning of Net Profit.
“ag%f LT T AR,

[P.T.O.
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i) Whatis Administered Price 7
Evzags WS QOTBEI ?
j) Who propounded innovation theory of profit ?
I3 @a@d %m@oécﬁ agéaoad%oodo ?
k) Define Business Cycle.
3,0 W), ST
) What s Recession ?
SOFB L0WO3 DOTIBE0 ?

SECTION - B (3x5=1¢

Answer any three of the following questions :
2INT CINYTHTTR TR aoj@gﬁe:)ﬁ VBORD !

2.

Explain the distinction between market price and normal price.
RToBE, 2363 TINR mamm 33 aﬁzsaoém’ﬁag QWO

Explain the types of monopoly.
DTRD dd%d ajaodﬁeézg EATVOL

Explain the features of oligopoly.
e@wudmdaﬁ%d @izaﬁeﬁaﬁgt DTWORD.

_ Write a note on product differentiation.

SRS Tes 30 £33369 LBO0.

Explain risk theory of profit.
T Rowa0ST %m@oéd@ DROR.

_ Calculate accounting profit and economic profit from the following data :

Particulars Rs.
a) Sales revenue 90,000
b) Production cost 40,000
c) Depreciation charges 10,000
d) Advertisement expenses 10,000
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e) Miscellaneous expenses 2,000
f) Interest on his own capital 10,000
g) Wage for personal labour 5,000
FNT 208~ 203N00 e%&ci Y D) SPFF mww@ FOTEEODD
QTR BR. N
a) TRTIWE SO 90,000
b) wwEmme ﬁzgd 40,000
C) AwFY ﬁzajd 10,000
d) @=&emes =g, 10,000
e) |33 aﬁzﬁﬁ% 2,000
f) Bo2 uocém%fd BoedT W 10,000
9) A, oé 30T 3RO 5,000
SECTION-C (3x15=45)

Answer any three of the following questions in which question no. 13 is
compulsory :

FPNT 236500 TR wéﬁ@ﬂ SUZORD. WRINTE), as’?f zfosﬁ 13 smmodeoNes :

8. Explain the equilibrium of firm and industry under perfect competition
in the short-run and long-run.

DO TRpees dsadoiéé’oi)@ SO PEIT Tt LVBEOCD ARBRCT
o @mdawoe‘) onTat) @emrd@aﬁo@ oer @cﬁrm@csgéd ? DWOXD.

9. Define discriminating monopoly. Explain price and output determination
under discriminating monopoly.

@d@ﬁa aah m SoEE 3@63533 @ﬁ do ARNSEARCY ema’sﬁeﬁ @mrdﬁﬁa
@dm@

10. Explain the features of monopolistic competition. How price and output
determined in the long period ?

) mojooé TPCLICH) OTLANTTD OO, @emrﬁ@cﬁa@ 23e3 méo
wéﬁﬁ% éer? adrm@dﬁ% 9 RO

11. Define pricing policy. Discuss the methods of pricing policy.
33 Qe 3,309, WIS Jedod @mdﬁeﬁ@{ IR0,
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12. Explain the various phases of business cycle.
3,30 BT AVG aoéﬁeiag 203D WOAD.

13. Case let:
A firm has demand and supply schedule as given below. It has to
determine the price for its product on the basis of demand and supply
in the market.

Price in Rs. Quantity demanded (Units) Quantity supplied (Units)

1 50 10

2 40 20

3 30 30

4 20 40

5 10 50
Questions :

a) What type of market is it ?

b) Draw the demand and supply curve.

c¢) How equilibrium price is determined ?

d) What is the equilibrium price and quantity ?

2&6 ebzﬁasmsz

2,000 §TP0% DR IR B8y BB o383 BINT0IT3. RTILEIYOD WNES

ed

ZonR RGNV 08 Soedor 33 WBHT 23303082, R ORWETNG.
S cands  ded FEme (Pusnw) e SRR (PN

1 50 10
2 40 20
3 30 30
4 20 40
5 10 50
S

a) BG> CINT FFOT WRTFHE,?

b) 3ee8 B3 WEBFOD BeadneR), TL3R0.
) ARBRLT WS Sert QG ORVREZBT ?
d) ARBREE LIS BT TN A3 ?




